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Consider the following table that embodies details about the percentage distribution of
population of five states A-E on the basis of poverty lhne and gender. In accordance with the
data in the table, answer the questions 1-5:

State-wise Distribution of Population

. Proportion of Males (M) and Females (F)
State Pemen mpei it ol Poplulatlon Below Poverty Line | Above Poverty Line
Below Poverty Line =

M:F M:F
A 35 5:6 |
B 25 3:5 4:5
C 24 B S 253
D 19 3:2 5:3
E 15 5:3 3:2

Freferfiaa aiferan w0 eam A, Foom wis v s Sk (fm) % s ® A 9 E o= % ui= o= Al
ST o fera fae 3 ar H e fomn e 2 | 39 @ifern & e (221) % SER T 14 5% & I

o

difa;

ST 1 T - AT e

e | A | g () siwfeensi @) 3 s
S F A (%) [ mee .~ s e
TS T "5 AT ] T E 30
M:F M:F
A 35 5:6 6:7
B 25 3:5 4:5
¢ 24 1:2 2:3
B 19 3:2 5:3
E 15 5:3 3:9

What will be the number of females above poverty line in the state ‘D’, if it is known that the
population of the state ‘D’ is 8 million?

(1) 3 million
(2) 2,83 million
(3) 2.63 million

(4) 2.43 million

(1) 3 fofers

(2) 2.83 faferm
(3) 2.63 fafems

(4 9 43 fuferaa

1[Option ID=10001]
2[Option ID=10002]




3[Option ID=10003]
4[Option ID=10004]
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Consider the following table that embodies details about the percentage distribution of
population of five states A-E on the basis of poverty line and gender. In accordance with the
data in the table, answer the questions 1-5:

State-wise Distribution of Population

. Proportion of Males (M) and Females (F)
State Pemeniape it o Poplulatlon Below Poverty Line | Above Poverty Line
Below Poverty Line =

M:F M:F
A 35 5:6 6z
B 25 3:5 4:5
C 24 1:2 2.3
D 19 3:2 B:3
E 15 5:8 3:2

Freferfiaa aiferan w0 eam A, Foom wis v s Sk (fm) % s ® A 9 E o= % ui= o= Al
S o Afcra feron & st o foam oo n 2 | 98 @fcrR % sieRe (S2) % SER T 13 5% F I

o

difa;

S ] T AR o

e | A | g () siwfeensi @) 3 s
S 9 (%) [ o St

TRl 2 | AT T T H HR
M:F M:F
A 35 5:6 6:7
B 25 3:5 4:5
¢ 24 1:2 2:3
B 19 3:2 5:3
E 15 5:3 3:2

If the male population above poverty line for state ‘C’ is 1.9 million, then what is the total
population of state *C'?

(1) 6.25 million

(2) 5.35 million

(3) 4.85 million

(4) 4.5 million

afg =g - W fi Weh-tm @ IR g A sHEen 1.9 o @ @ v - Y R e Smen
feraft 27

(1) 6.25 fafer

(2) 5.35 ffers

(3)  4.85 fuferz

(4) 4.5 fuferaq

1[Option ID=10005]
2[Option ID=10006]
3[Option ID=10007]
4[Option ID=10008]
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Consider the following table that embodies details about the percentage distribution of
population of five states A-E on the basis of poverty ].hne and gender. In accordance with the
data in the table, answer the questions 1-5:

State-wise Distribution of Population

. Proportion of Males (M) and Females (F)
State Pemeniare ol Populatlon Below Poverty Line | Above Poverty Line
Below Poverty Line -

M:F M:F
A 35 5:6 6377
B 25 3:5 4:5
C 24 122 L s
D 19 3:2 5:3
E 15 5:3 3:2

Freaferfiaa aiferan v eam s, Foom wis - s See (o) % s ® A 94 E o= % ui= o=
A o Wfcera fereron 3 s faero fean e 2 | 38 anfee o STl (321) % SER T 18 5% & 30

o

difa;

ST T T AT e

s i (VD A Afeen i (F) o S
S F AT (%) [ e~ W

et e & e Y §
M:F M:F
A 35 5:6 6:7
B 25 3:5 4:5
i 24 1:2 2:3
L 19 3:2 5:3
E 15 5:3 3:2

What will be the male population above poverty line for state ‘A’ if the female population
below poverty line for state ‘A’ is 2.1 million?

(1) 2.3 million
(2) 3.3 million
(3) 4.4 million
(4) 6.6 million

= - A’ i v # R e i s #=0anf, otz asg AT R - | i afeensi 6
e 2.1 fafasm 27

(1) 2.3l
(2 3.3l
(3) 4.4 fufez
(4) 6.6 fufcra

1[Option ID=10009]
2[Option ID=10010]
3[Option ID=10011]
4[Option ID=10012]
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Consider the following table that embodies details about the percentage distribution of
population of five states A-E on the basis of poverty ].hne and gender. In accordance with the
data in the table, answer the questions 1-5:

State-wise Distribution of Population

. Proportion of Males (M) and Females (F)
State Pemeniare ol Populatlon Below Poverty Line | Above Poverty Line
Below Poverty Line -

M:F M:F
A 35 5:6 6377
B 25 3:5 4:5
C 24 122 L s
D 19 3:2 5:3
E 15 5:3 3:2

Freaferfiaa aiferan v eam s, Foom wis - s See (o) % s ® A 94 E o= % ui= o=
A o Wfcera fereron 3 s faero fean e 2 | 38 anfee o STl (321) % SER T 18 5% & 30

o

difa;

ST T T AT e

s i (VD A Afeen i (F) o S
S F AT (%) [ e~ W

et e & e Y §
M:F M:F
A 35 5:6 6:7
B 25 3:5 4:5
i 24 1:2 2:3
L 19 3:2 5:3
E 15 5:3 3:2

If the population of males below poverty line for state ‘B’ is 2.4 million and that for state ‘E’ 1s
6 million, the total population of states ‘B’ and ‘E’ is in the ratio of

1) 2:5

(2) 2:7

3) 3:7

4 4:9

aft 53 ~ B ol el & = gl ) s 2.4 fufeea siwarss - B 6 fuferaa 2@ o B sk
'E’ 1 Fat s o srgora 8 27

a)y 2:5

(2) 2:7

3) 3:7

4) 4:9

1[Option ID=10013]
2[Option ID=10014]
3[Option ID=10015]
4[Option ID=10016]
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Consider the following table that embodies details about the percentage distribution of
population of five states A-E on the basis of poverty line and gender. In accordance with the
data in the table, answer the questions 1-5:

State-wise Distribution of Population

. Proportion of Males (M) and Females (F)
State Pemeniare ol Populatlon Below Poverty Line | Above Poverty Line
Below Poverty Line -

M:F M:F
A 35 5:6 6377
B 25 3:5 4:5
C 24 122 L s
D 19 3:2 5:3
E 15 5:3 3:2

Fafafaa aifesm w e ifae, fomtd s - s sk (ffm) % smam @ A 9 E a4 & gi= 73] 4
A o Wfcera fereron 3 s faero fean e 2 | 38 anfee o STl (321) % SER T 18 5% & 30

o

difa;

S ] T R fad

g | - o gENi (M) 3R afeensi (F) 1 399«
G F AT (%) [ o e - - R
iyl T @ e rifefi T E T
M:F M:F
A 35 5:6 6:7
B 25 3:5 4:5
G 24 12 28
D 19 3:2 5ad
E 15 5:3 9:9

If the total population of state ‘C’ and state ‘D’ i1s 5 million and 7 million, respectively, then
what 1s the difference in the population below poverty line in these two states?

(1) 0.30 million
(2) 0.23 million

(3) 0.13 million

(4) 0.11 mullion

Az 7= - ¢ T - D’ Tt SmEn FAw: 5 fuferm o 7 fifemm R, @t 3 3 oo o -
@ A = i SHEE S R

(1) 0.30 fufer

(2) 0.23 fafam
(3) 0.13 fafe
(4) 0.11 faferm

1[Option ID=10017]
2[Option ID=10018]
3[Option ID=10019]
4[Option ID=10020]
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Which of the following are correct regarding the process of learning?

(A) Remembering the information and reproducing it in examination.

(B) Synthesis and organisation of the old and new experiences resulting
in a novel pattern

(C) Carrying out activities which leave permanent effect on the learner.
(D) Learning means acquisition, retention and modification of experience.
(E) Preparing only for scoring good marks.
Choose the correct answer from the options given below :

(1) (A). (B) and (C) only

(2) (B). (C) and (D) only

3) (C). (D) and (E) only

(4) (B).(C). (D) and (E) only

sferm 1 afspn & wey § frafafaa & @ =9 @ @ 87

(A) AT H ATE FEAT S 3 wlen H gH g HEA

(B) UM SR T YAl % TYSNU R T o iy ey i ded
(C)  SAfnTeRal W TRl T4 Bied 916 @ ™l FI I ST

(D) AT 1 AT IHS T AT, WaEwr 3R IR 2

(B) dd 37=3 3% TTH A o foTg damt s

= feu o ot @ & 92 3T @1 == Fifs

(1)  Fd (A), (B) 3 (C)

() g« (B), (C) 3iF (D)
(3) Fad (C). (D) 31 (E)
(4) %A (B). (C). (D) 3 (E)

1[Option ID=10021]
2[Option ID=10022]
3[Option ID=10023]
4[Option ID=10024]
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What is the full form of MOODLE, an open source Learning Management System (LMS)?

(1) Modular Object Oriented Digital Learning Environment

(2) Modular Object Oriented Dynamic Learning Environment

(3) MOOCs Oriented Digital Learning Environment

(4) Multiple Object Oriented Dynamic Learning Environment

T wie stferTn weed wonef! (oo o vH) gEe (vn s S0 € ue ) o el s 27

(1) niggen sissse i fofsea afin varma
(2) UigHeH iedae AME-TE SEATHE a7 warg-iz
(3) g siifere fefaea affn wamiz




@ G n g s <
b Gl I [ e 3 e o | s B R e R

1[Option ID=10025]
2[Option ID=10026]
3[Option ID=10027]
4[Option ID=10028]
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Given below are two statements :
Statement I : Assesment drives learning.
Statement II : No feedback is required to be given in formative assessments.

In the hight of the above statements, choose the most appropriate answer from the options
given below:

(1) DBoth Statement I and Statement II are :_t'orrect
(2) Both Statement I and Statement II are incorrect
(3) Statement I 1s correct but Statement II 1s incorrect
(4) Statement I is incorrect but Statement II is correct
4 g1 e fro Mo E
Fed () 37TeheM ATy =1 Yitd e 2|
F (ID) - TTHF Ao 8 gTaqfe <3 1 sravasda 98 2 1
39 oA o SATerreh H, 4 fou m fasedi 4 8 |e8 39w 30 &1 =9 Fifs
(1) Fud IR I EHT 98 2 |
(2) %A I3 [ EHI e 2 |
(3) &9 T8 2, cifefa Fed T Terd 2 |

(4) A 177eld 2, offehd oA [TadE 2 |

1[Option ID=10029]
2[Option ID=10030]
3[Option ID=10031]
4[Option ID=10032]
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According to Dewry. education is a
(1) Social need
(2) Personal need
(3) Status need
(4) Financial need

T ST e 2
(1) HraTfer SHTEvEFl
(2)  =fFrd ArarEed]
(3) feafq (vezm) sEvasFa
(4) faefra syragasd

1[Option ID=10033]
2[Option ID=10034]
3[Option ID=10035]
4[Option ID=10036]
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Pandit Madan Mohan Malaviya National Mission on Teachers and Teaching has various
components. Which of the following is not a component under this scheme?

(1) Inter University Centres of UGC
(2) Faculty Development Centers (FDCs)
(3) Teaching Learning Centres (TLCs)

(4) School Of Education (SOE)

S1ereRi wE e W uted ued Oied urerE g e o i e ) FofafEa O 8 Fm m e gieen
BreE ik

() g Hi & seafdvafaares w2
@ Pl T % (v & )
(3) fam s %= (4 va )

(@) T aewm (vh sid)

1[Option ID=10037]
2[Option ID=10038]
3[Option ID=10039]
4[Option ID=10040]

Sl. No.11
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Which of the following are the features of case study method?
(A) It is appreciative

(B) It is particularistic

(C) It is descriptive

(D) It is inductive

(E) It is mechanical

Choose the most appropriate answer from the options given below :

(1) (A). (B). (C) only

(2) (B). (C), (D) only
3) (C). (D). (E) only

(4) (&), (D), (E) only




YT () ead ugha i fasmand Frafafed § @ #6927
(A) T8 TEATHF 2 |
B) = fommamE 2|
() =& foammers 2|
(D) I HARTHATHS ¢ |

(E) =g =ifa= 2

fir fou o sl & @ o=8 U &1 99 Fifw

(1) ZFae (A). (B). (C)
(2) a4 (B). (C). (D)
(3) Fa4 (C), (D). (E)

(4) Fad (A), (D). (E)

1[Option ID=10041]
2[Option ID=10042]
3[Option ID=10043]
4[Option ID=10044]

Sl. No.12
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Which of the following are remote data collection procedures?
(A)  Third party interview

(B)  Pop-ups

(C) Data base e-mail

(D) Instant messaging

(E) Panel discussions

Choose the correct answer from the options given below :
(1) (A). (B). (C) only
(2 (B). (C). (D) only
(3) (C). (D). (E) only
(4) (A). (B). (E) only

frefefaa o @ qrew stfewe dugw i gfsmd = @ 27
(A) g wid ereg (Feta v anaTeEi)

(B) UM-3H

(C) 3 =) 3Ha

D) e FAfSm (qrehifars HeyH)

(B) ot feerym (arfies uf=et)

T2 fou o fosreat & @ wdt 3w w1 ==m A

(1) &4 (A). (B). (C)

(2) ZFad (B), (). (D)




3 Fa= (). (D). (B)

(4) = (), (D). (E)

1[Option ID=10045]
2[Option ID=10046]
3[Option ID=10047]
4[Option ID=10048]

Sl. No.13
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To perform t-test which of the following softwares can be utilized?

(A) MS Excel

(B) Unix

(C) SPSS

(D) MS Equations

Choose the most appropriate answer from the options given below :

(1) (A)and (B) only
(2) (B), (C) and (D) only
(3) (A)and (C) only

(4) (A). (C) and (D) only

di-vlig = 2g Fafafed 3 @ #9 a1 difest gga o S ekt 27

(A) TH. TH. TR
B) I

(C) wWHRww
(D) TUH. TH. TR

= fow o foeredt # @ w1 3o w1 =99 Hifv -

(1) Fad (A) 3% (B)
(2) Fad (B), (C) 3 (D)
(3) FaA (A) #W (C)
(4) FaE (4), (O) #irK (D)

1[Option ID=10049]
2[Option ID=10050]
3[Option ID=10051]
4[Option ID=10052]

Sl. No.14
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Match List I with List IT

List T
Types of Research
(A) Cohort analysis

(B) Cultivation analysis

(C) Factor analysis

(D) Canonical analysis

List IT
Research Characteristic

(I) Studyv of a specific population as 1t
undergoes change over time.

(I) Simultaneous analysis of two or more
data tables.

(III) Analysis of perceptions of social world.

(IV) A multivariate statistical test used for
data reduction.

Choose the correct answer from the options given below :

1) (A)D). B)-ID), (O)-(ID). (D)-(IV)




(2)  (A)-(ID). (B)-IID). (C)-AV). (D)-(D)
(3) (A)-AV). (B)-). (O)-(ID. (D)-(I1T)
(4)  (A)-(D. (B)-(II), (C)-(IV). (D)-AD

gefl-1 o a1y g=i-11 &1 e i
i1 TAi-11

MY F TFR MICECIRERLTIY

(A) =T favem (I) 99 % A9 oot g8, U O S #
HETTH

(B) wedlanH (TEpfa) fergary (ID) = = A Aiher AROE S @y-ay
fergetwon

(C) == fagemo (III) | STd o Jeaequr 1 fagesm

(D) STl fagerson (IV) 3ATHSl & THFO g TgaR HITCTHA Theor

Hra fau o fomeat @ @ wEt 3w 1 9 Hife

1) (A)-(D). (B)-ID). (C)-(III). (D)-(IV)

(2) (A)-ID. (B)-(III). (C)-IV). (D)-(D
(3) A-IV). B)-D. (C)-11). (D)D)
(4)  (A)D). (B)-(IID). (C)-AV). (D)-D)

1[Option ID=10053]
2[Option ID=10054]
3[Option ID=10055]
4[Option ID=10056]

Sl. No.15
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The measures of inter-coder reliability are employed in research related to
(1) Discourse analysis
(2) Narrative analysis
(3) Path analysis

(4) Content analysis
se-wiet favawiaa & ameEel # v e | gefaa my | @ e
(1) famyl fagemm
(2) i fagerso
(3) w4 Tzt
(4)  fayg-awq faverm

1[Option ID=10057]
2[Option ID=10058]
3[Option ID=10059]
4[Option ID=10060]

Sl. No.16
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Transforming ideas. thoughts and messages into verbal and non-verbal signs and symbols is
known as

(1) Channelisation




(2) Controlled communication
(3) Encoding
(4) Decoding
s, famnd sfi dgen = difiaes va - gl § s fF am 3 s e 7
(1) grfie (SHeEsF)
(2)  faf e

(3) FeohEd

4) fage

1[Option ID=10061]
2[Option ID=10062]
3[Option ID=10063]
4[Option ID=10064]
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Which of the following are the effects of oral communication?
(A) Fragmented information

(B) Personal connect

(C) Feed back

(D)  Objectivity

(E) Absence of interpretation
Choose the correct answer from the options given below :
(1) (A) and (B) only
(2) (A). (B)and (C) only
(3) (B)and (C) only
(4) (C). (D) and (E) only
fferiiaa o 9 =i 4 difias gem & gaE 27
(&)  ESeHE g
(B)  TafFa=s day
(C)  ufdgfe (Fizss)
D) g

(E) =Irs s H9E

i faw T fesre | w39 1 = i
(1) e (A) 30 (B)

(2) FaEe (A), (B) 31 (C)

(3) e (B) 37 (C)
(4) Fae (C). (D) 3 (E)

1[Option ID=10065]
2[Option ID=10066]
3[Option ID=10067]
4[Option ID=10068]
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Given below are two statements :

Statement I: The psychological obstacle in communication can be seen when the receiver
fails to refer language to reality and experience.

Statement IT: The stereotypes held by one also contribute to the faillure of language to
reflect social reality.

In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false

(4) Statement I is false but Statement IT is true

w9 (I): TN | HHAEHIS o197 99 @ 1 Fehdl 8, 99 TeUehdl a91d Ud S1WE I WIS 1 Ted o
T fawa war 2 |

oA (I) : Forelt =afaa & ®g wou amfss aurdar #t wfafafea @ & vy & fawea @ o areE =
2l

39U e o 3k 4, 4= fTu T foemedt § 9@ w8 3w 9 i -
(1) Fo I3 M EHT 9 2 |

(2) e 130 I SAT S 2 |

(3) FA [8e 2, offd 9 [T 515 2 |

(4) FUH [FHAR, oAl F99 [[TA 2 |

1[Option ID=10069]
2[Option ID=10070]
3[Option ID=10071]
4[Option ID=10072]
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Identify the correct sequence of the elements of communication set by Aristotle:
(A) Speech

(B) Speaker

(C) Audience

(D) Occasion

(E) Effect

Choose the correct answer from the options given below :
(1) (A). D). (B). (C). (E)

(2) (D). (B). (A). (E), (C)
(3) (C). (D). (A). (E). (B)
(4) (B). (A). (D). (C). (E)

e 7 feifod | o ae % w2 F0  veeE i

A) 9
B)  FH
(C) i
D) W
(E) 99AE

= e o faeredi § 9wl 3 o = e

(1) (A). (D). (B). (C). (E)

2
(D). (B). (A). (E). (C)




(3) (C). (D). (A), (E). (B)

4) (B).A). D). (©).(E)

1[Option ID=10073]
2[Option ID=10074]
3[Option ID=10075]
4[Option ID=10076]

Sl. No.20

QBID:1501020

Match List I with List I :

(A
B)
(©
D)

List I

Types of Communication Effects

Instrumental
Prestige
Reinforcement

Aesthetic

@D
ey
(1D
aw

List IT
Source of Service
Author’s observation
A range of special requests
Sentimental fiction

Factual reports

Choose the correct answer from the options given below:

(1)

(2) (A)-(IID). (B)-(IV). (C)-(II). (D)-(D
(3) (A)-(IV), (B)-(III), (C)-(ID). (D)-(T)

(4)  (A)-(D), B)-IV). (C)-(1I). (D)-(III)

(A)-(II), (B)-(I1I). (C)-(IV). (D)D)

Al 13 g1 g=h 1T = firer i |

(&)

qH1 1
E o YTE o TN

@D

HA 11
a1 =1 Hid

S T ST

B) ulam
(C) A

(D) e

e 1o forreat 1 4 ol 39 o == fifa

(1) (A)-(D), (B)-(IID), (C)-IV). (D)-(D)
(2) (A)-ID. (B)-AV). (C)-aD. (D)-d)
(3) (A)-IV). (B)-(IID), (C)-D. (D)-(D)

4 (A)-(D). B)-(IV). (C)-(1I). (D)-(I1I)

1[Option ID=10077]
2[Option ID=10078]
3[Option ID=10079]
4[Option ID=10080]

an o sigivei & vk =
(1) wral e -HrfEe

(IV) deareds frard

Sl. No.21
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Find the wrong term in the series given below:

16. 22, 30. 45. 52. 66. .......

1) 22

2
()30




(3) 66

(4) 45

1 1 76 gaen T TTetd g w1 gal eEe ?
16, 22, 30, 45, 52, 66, .......

(1) 22

(2) 30

(3) 66

(4) 45

1[Option ID=10081]
2[Option ID=10082]
3[Option ID=10083]
4[Option ID=10084]

Sl. No.22
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If the word EARTH be written as QPMZS in coded form, how can the word HEART be
written in the same code?

(1) SPMZQ

(2) SQMPZ

(3) SPMQZ

(4) SQPMZ

af2 3% - EARTH 1 %2 94 QPMZS foren i 2 dl HEART =1 341 &2 4 fohm v foran s wahan
27

(1) SPMZQ

(2) SQMPZ

(3) SPMQZ

(4 SQPMZ

1[Option ID=10085]
2[Option ID=10086]
3[Option ID=10087]
4[Option ID=10088]

Sl. No.23
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(0.35)* —(0.03)

Compute the value of
0.19

upto 3 decimal places:

(1) 0.064
(2) 0.64
(3) 0.006

(4) 0.694

(0.35)* — (0.03)°

i WA 1 SIA 6 o= L e T e |

(1) 0.064

(2) 0.64




(3) 0.006
(a) 0.694

1[Option ID=10089]
2[Option ID=10090]
3[Option ID=10091]
4[Option ID=10092]

Sl. No.24
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10 chairs and 5 tables were purchased for Rs. 17.500. If the average cost of a chair is

Rs.1000, What 1s the average cost of a table?
(1) Rs. 1,400

(2) Rs. 1.200
(3) Rs. 1,100

(4) Rs. 1.500

10 HfEAT TR 5 7+ 1 F 17,500 7 @la 70| a2 vk FH i 3dEa Fwa 1000 & 2; 99 T 4 H
Simd oftad F=m 87

(1) % 1.400
(2) =% 1,200
(3) % 1,100
(4) %.1.500

1[Option ID=10093]
2[Option ID=10094]
3[Option ID=10095]
4[Option ID=10096]
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An Aeroplane started 30 minutes later than the scheduled time from a place 1500 km
away from its destination. To reach the destination at the scheduled time the pilot needed
to increase the speed by 250 km/hr. What was the speed of the Aeroplane during journey?
(in km/hr).
(1) 750
(2) 1000
(3) 800

(4) 900

U BT WS 3 1 Tasd @ 1500 .. Fi gt w et v @ e Ruifa w8 30 e 1 20 @
I wRY o | e e W Ruffa oog ¥ ugen 2q urmere @6t wfa § 250 et ufa w2 o @ afy
w1 mavEs gl | AT % S gaTs e i fa foRat oft (Feet. fmer H) 7

(1) 750
(2) 1000
(3) 800

(4)




900

1[Option ID=10097]
2[Option ID=10098]
3[Option ID=10099]
4[Option ID=10100]
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In classical square of opposition if ‘No S is P’ is given as false then which of the following

could be immediately inferred from it?

(A) ‘Some S is not P’ is true

(B) ‘All S 1s P’ 1s undetermined

(C) ‘Some S is not P’ is undetermined
(D) ‘Some Sis P’ is true

(E) ‘Some S 18 not P’ 1s false

Choose the correct answer from the options given below :

(1) (B). (D) and (E) only
(2) (A). (B) and (D) only
(3) (A). (D) and (E) only

(4) (B). (C) and (D) only
fogfa & aenfadm ol & afy #E S, PAd @, o8a & &9 # fem & a9 fafafaa 4 9 38 sH-w @9

R T STH I ST HehT 2 |

A FBS, P, TR

B) ‘wfi S, P?, wFuii@ 7|
(©) F3 S, Pa@ e, wfigif@ 2
D) ‘FBS PR,ud®

(E) ‘%8 S,Padl e, e 2

= fou o foshedt § & W I 1 =T HifS
(1) & (B), (D) R (E)
(2)  Fad (A), (B) 3 (D)
(3) F4d (A), (D) 31 (B)
(4) % (B). (C) 3R (D)

1[Option ID=10101]




2[Option ID=10102]
3[Option ID=10103]
4[Option ID=10104]
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Which Fallacy iz committed in the following argument?
“Smooth Sailing is all that's there to LIFE with ABC Insurance Policy.”

(1) The Appeal to Emotion
(2) The Appeal to Pity
(3) The Appeal to Force
4) Irrelevant Conclusion
Freferfiaa gfaa § wia—a dm s 27
o oft i sl iferd % we sfag—amm g g 2
(1)  9EATF o smre
(2) =A% foru ==
(3) e feru sme

(4) FrEfiTE e

1[Option ID=10105]
2[Option ID=10106]
3[Option ID=10107]
4[Option ID=10108]
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Given below are two statements :

Statement I: To draw an analogy between two or more entities is to indicate one or more
respects in which they are similar.

Statement II : Everry analogical inference proceeds from the similarity of two or more
things in one or more respects to the similarity of those things in some
further respect.

In the Light of the above statements, choose the most appropriate answer from the options
given below:

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement IT 1s incorrect

(4) Statement I is incorrect but Statement II 1s correct

wud (I): @ a1 Afos Tearsti & Wed &9l ol ST U A1 iUk Yggedl § ITeh uHar i W
3 s 2 |

FIH (IT) : T G SHAH Uh a1 39E A4 Tgqgai § 4l a1 389 Afoeh J&qaii &l THEa § 34
gt o foret sifafera veey it TamaT i TR SR FaT 2|

SHIF HeH % A H, T o o faswedi #§ | waw 3ugw I A ==A Hifw

1)

Fo [N IIEHT TS E |




(2) FH TR I EHT T 2 |

(3) FeH [HH 2, oiford sheq 1A 2 |
(4) FE LA 2, Al e IHA 2

1[Option ID=10109]
2[Option ID=10110]
3[Option ID=10111]
4[Option ID=10112]
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Given below are two statements :

Statement I: For the Classical Indian thinkers, inference (anum&na) means only

syllogistic inference.
Statement IT : Unlike Aristotelian Syllogism. anumana invelves four steps instead of three.
In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false

(3) Statement I is true but Statement II 1s false

(4) Statement I is false but Statement II is true

= 21 sy feg e 2

Fod (I) . dFerniaeht yrdi foas % e smmm =1 a1 Faa =meg aqEE 9 21
o (II) :  STEqETdl =arE & faudfa e o fF % a9 =1 = e 2  # |

3T e & TS 4, A fou mu famedi 4 @ g8t s o wEA fifu -
(1) FHAISRIIGHI A 2 |

(2) 2 130 I EH1 583 2 |

(3) A 18e 2, cifeh e 11 3797 2 |

(4) & T HHA 2, offhd 94 [TH& 2 |

1[Option ID=10113]
2[Option ID=10114]
3[Option ID=10115]
4[Option ID=10116]
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Which of the following means of knowledge involves positing of something for making any

unit of cognition self-complete?
(1) Comparison (Upamana)
(2) Postulation (Arthapatti)
(3) Non-Cognition (Anupalabdhi)

(4) Verbal Testimony (E.")abda)

T ¥ Frfoan med # @ fr # S B A N S A wia ARl = 3 55 W G i

gt g7

1)




(2)

(3)

(4)

1[Opt
2[Opt
3[Opt
4[O0pt

SYHHE

g
Fuefss
lag

ion ID=10117]
ion ID=10118]
ion ID=10119]
ion ID=10120]
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With respect to data communication, which of the following statements is true about fibre
optic cable?

1)

(2)

(3)

(4)

Fibre optic cable carries data in pulses of light and is prone to interference.
Fibre optic cable carries data as electronic signals and 1s not prone to interference.
Fibre optic cable carries data as electronic signals and 1s prone to interference.

Fibre optic cable carries data in pulses of light and 1s not prone to interference.

g2 (Afhet) HaR & G °, Bisa 3iiftdsh sheret & an § f=fefaa § @ s -a1 wuw a8 27

(1)

(2)

(3)

(4)

HIESH HiTEsh Sheled TehTel T4 § ATehs of W1l ¢ i Ig =4Temd 34@ 2 |

HISH SAMMEH held SAFgI e Hohashl o &9 § Alhg o 11 2 3R T2 AT 3G 2 |
ISR ST helcl SAFEIh Hohashi o &9 H kg o 1Al & 3R T8 =T8T Q@ 2 |
HIFa (e halel Yokl ¥9g H e o SI1a @ 31K Ig =Aand 39@ 74 ¢ |

1[Option ID=10121]
2[Option ID=10122]
3[Option ID=10123]
4[Option ID=10124]
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Arrange the following computer memory types|from fastest to slowest speed:

(&)
(B)
(©
D)
(E)

Hard Disk

Main Memory (RAM)
CD-ROM

CPU Registers

Cache Memory

Choose the correct answer from the options given below :

(1)

(2)

(3)

(4)

(D). (E). (A). (B). ()

(A). (©). B). D). (E)
(E). (D). (B). (4). (C)
(D). (E). (B). (A). (C)




wg Wi & fFafafaa yerl & disw @ wenfa = #n 4 fofew -

(A)
(B)
(©)
D)
(E)

e foen

g1 Tfd (3 T W)
ot <t - 3| o
ot bt 7 Foret

13 Tyfa (e o)

= fou mu faeet @ 9 T 3T =1 = Ao

1) (D). (E). (&), (B). (C)

(2) (A). (C). (B). D). (E)

(3) (E). D). (B). (A4). (C)

(4) (D). (E). (B). (A). (O)

1[Option ID=10125]
2[Option ID=10126]
3[Option ID=10127]
4[Option ID=10128]
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Which of the following statements about malware are true?

(A)

(B)

(©)

A Trojan Horse 1s malware disguised as legitimate software.

A Virus inserts itself into another program. It runs and spreads itself when the

program lis opened.

A worm 1s similar to a virus except that i1t does not need a program in order to run. It

spreads by itself.

Choose the correct answer from the options given below :

(1) (A) and (B) only

(2) (A)and (C) only

(3) (B) and (C) only

(4) (A). (B) and (C)




Aeaa & Ted 7 frafafaa s 7 8 9 o1 %97 96 27
(A) 219 gd T Aread g S 94 GidedT % SeHaY § 2l ¢ |

(B) as@ Tt g vom § W= g@ I 2| W 9um @ien 9 R a8 3@ Jed o em
T R |

(C) M U IE % THH BT 2 | 390 oia ik 9 g @ Fh sEel Sen & foe gmm Y stEvaeRan
Tl 2l | T2 T HeAar )

= feu mu eyl d @ 9F I =1 99q Fifyv -
(1) F== (A) 31 (B)

(2) === (A) #R (0)

(3) Fa9 (B) ¥ (C)

(4)  Fae (A), (B) 3 (C)

1[Option ID=10129]
2[Option ID=10130]
3[Option ID=10131]
4[Option ID=10132]
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Match List I with List IT

ListI List IT
(File) (File Format)
(&) Video (D xlsx
(B) Podcast I .jpe
(C) Photograph (ITI) .mp4
(D) Spreadsheet (IV) .mp3

Choose the correct answer from the options given below :
1) (A)-IID). (B)-(D). (C)-(IV). (D)-(D
(2)  (A)-ID). (B)-(IV). (C)-(1II). (D)-(I)
(3) A)-IID), B)-(IV). (C)-aD). D)-O

4 (A)-@). (B)-IV). (O)-(ID). (D)-(III)




-1 % =9 g=-11 1 f5em it

T=i-1 FHI-11
(&) iz () T
(B) U= (I) .S
(C) weZmTe (IIT) w4
(D) iz (IV) i3
9= fou o famed § | HEL 39 H1 = R

@ (A)-(I1I), B)-(1D), (C)-AV), (D)-0)
@ (A)-(ID), (B)-IV), (C)-(1I), (D)-()
@) (A)-(IID), (B)-(IV), (C)-(1D), (D)-(D)
@ (A)-(I), (B)-AV), (C)-I), (D)-(I1L)

1[Option ID=10133]
2[Option ID=10134]
3[Option ID=10135]
4[Option ID=10136]
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In the following spreadsheet, which of the formulae below would be best for cell C2? Note
that the formula must be able to be copied down from C2 to both C3 and C4.

A B C
Lunch Cost Dinner Cost Total Cost
' (Rs.) (Rs.) (Rs.)
2 15 27 42
3 23 35 58
1 10 35 45

(1) =A32+3B2
(2) =3A32+ B2
3) — BA32 + $B32

(4) =3A2+3B2




Frafafaa foen sfie (Wesfie) 4, frafafaa & F5-o g7 (wrjen) 3@ @t 2 % fau gatem @ ? |9 #®
for wider, @ 28 @t 3 3t i 4 S | Hidt B TH |

T off =t
TR WIS
Tf HsH A Fd AT

1 AT
&) &)

)
2 15 27 42
3 23 35 58
4 10 35 45

1) =T$2 + $efi2
2 = $U$2 + A2
@) = $T$2 + FAI$2
$u2 + $&ft2

1[Option ID=10137]
2[Option ID=10138]
3[Option ID=10139]
4[Option ID=10140]

(4)

Sl. No.36
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Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A):  Soil Pollution due to detergents affects the root growth of the plants and
depresses the growth of soil micro-organisms.

Reason (R) : Presence of detergents in soil makes the soil more acidic.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A)is correct but (R) is not correct

(4) (A) 1s not correct but (R) is correct




= 2 FeA feu Mo 2 : uw sifieRem (AssertionA)%@ﬁ%’@ﬁ%?ﬁwmm (Reason R) % &9
g

Al (A) s (fsetiz) & R T ge1 Yguor & diui % g {9 W ouvE usa @ 3
Ta1 1 q& el & fawm w oft wna A 2|

FW (R) g1 § feersie 1 sufeuls gar 1 siftes sreefta o 2a1 2|

39 %99 % Aelis H, 4= 73U U fowmeui § & T9@ 30gad W &1 =994 FHife
@ (A) 3 R) A T T R R), (A) H 7 =T 2

2 (A) R (R) 3H1 & 2, A (R), (A) I w21 =ame 461 2 |
@ (A) T 2, AfF (R) & 7 2 |
@ (A) TE 7 2, afF (R) Tt 21

1[Option ID=10141]
2[Option ID=10142]
3[Option ID=10143]
4[Option ID=10144]
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Examples of Persistant Organic Pollutants (POPs) are:
(A) Dioxins

(B) PAN

(C) VOC

(D) FURANS

(E) PCB

Choose the correct answer from the options given below :
(1) (A). (D). (E) only
(2) (&A). (B), (D) only

(3) (B). (C). (E) only
(4) (C). (D), (E) only




Faq 39 9guhi (POPs) % 3= &
(A) smEfFEE

(B) W (PAN)

(C) &t s (VOO)

D)
(E) @

= fou o foeredt § @ |E 3 F w=E Ff
@ a4 (4), (D), (B)
@ Fad (A), (B). D)
@ %= (B), (C), (E)
@ *ad (C), (D), (B)

1[Option ID=10145]
2[Option ID=10146]
3[Option ID=10147]
4[Option ID=10148]
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In the first commitment period of Kyoto Protocol, how many green house gases were covered
for reducing their emissions?

(1) 4
(2) 5
(3) 6

@ 7

FIEl Tieihicd o 99N Uldegal HAaty | foad 019 239 A9 % IcHeH i FH HH & U AEd R

T U

1 4
2 5
3 6
@ T

1[Option ID=10149]
2[Option ID=10150]
3[Option ID=10151]
4[Option ID=10152]
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Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reaszon (R) :

Assertion (A):  Green hydrogen production will be critical for world community to achieve
carbon neutrality by the year 2050.

Reason (R) : The energy content of hydrogen gas 1s much higher than that of coal.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A)is falze but (R) is true

fi=r 2t e fau U F : us sifiwYR (Assertion A) % w9 # fafga @ @t gaw 39 #W0 (Reason R) &
W'E[

AfYeped (A) fava @gg@ & fau 2050 % FeA Foga wH FH 2g NG FEgeE H ScuTed
foTTersk &R I |

0 (R) : FISIoH A il FHelt A RIFA il STa aga ifis it 2|

3T HYF & ATk 8§, Fi fou e fowed § @ wd 3w F w5 Fif

@ (A) IR (R) g &3 & 3R (R), (A) it w8t =amen 2 |

@ (A) 3R (R) 3F @ &, AR (R), (A) Ft Tt =awen 7€ 2|
@ (A) 7F 2, Ak (R) 319 T8l 2 |

@ (A) 3T 2, AfdT (R) 97 21

1[Option ID=10153]
2[Option ID=10154]
3[Option ID=10155]
4[Option ID=10156]
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Since the start of industrial revolution. the acidity of ocean’s surface water has

(1) inecreased by ~10%
(2) remained constant

(3) decreased by ~25%

(4) increased by ~30%

aftenfires sifd 6t JETT T TYg F Hag! ST hH STEAd-
1 ~10% = T B

@ TYEd 3

(3) ~25% FHF @ TR

(4)




~30% g T B

1[Option ID=10157]
2[Option ID=10158]
3[Option ID=10159]
4[Option ID=10160]
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A Government University with Institute of Eminence status can have foreign faculty upto a

maximum of

(1) 20% of total faculty strength
(2) 25% of total faculty strength
(3) 30% of total faculty strength

(4) 35% of total faculty strength

ooy giaisd geu™ =i feufa g sraehia favafaene § siftrran fora faesf foemss @ < a=d 27

) Fa ekl i g@n w7 20%
@ Fa et i G #:125%
3) T frereht it @ F 30%
@) T fIerhi 1 F=& H 35%

1[Option ID=10161]
2[Option ID=10162]
3[Option ID=10163]
4[Option ID=10164]
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Credits earned by a student and stored in Academic Bank of Credit, after the date of earning

such credits, will have validity upto a maximum of

(1) 7T years
(2) 10 years
(3) 12 years

(4) 15 years
et B g ifia ot srmefies sfee 9= o 1 sfge, g =@ 6 fafyr & gy, siftean =9 7% &
fordr du g e

m 79 % fg

@ 1039 & fou

@) 1239 & fou

@ 153 & fore

1[Option ID=10165]
2[Option ID=10166]
3[Option ID=10167]
4[Option ID=10168]
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Identify the statutory bodies of a University:
(A) Board of studies

(B)  Academic Counecil
(C) Executive Council
(D)  Finance Committee

(E) University Court

Choose the correct answer from the options given below :
(1) (A). (B). (C). (D) only
(2) (A). (C) only

(3) (&). (C). (E) only
(4) (B). (O), (D). (E) only

Rrvafirmem % Tifafes fem # fafea fifw

(A) = gsd
(B) e gl
(C) el fiwg
(D) o= =

(B) fovafomem w2

frar fou e faeredt 8 @ wet 3T 1 == Fifs
@ FEd (A), (B), (0), (D)
@ Had (A), (C)
@ e (A), (C), (E)
@ %ad (B), (C), (D), (E)

1[Option ID=10169]
2[Option ID=10170]
3[Option ID=10171]
4[Option ID=10172]
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Environmental education must be integral to all academic programmes as students need to

be mainly sensitized about
(1) its interdisciplinary and multidisciplinary nature

(2) 1ts emergence as a specialized field

3) relationship between culture and environment




) environmental degradation and its consequences for life on earth

el e stavas w9 9 o e s &1 wfad s gen =i e sel o e % e |

qEId: ATee ST 1 T

(1) FEH Aafaw 3T aglawe wHfa

@ 3EF e &9 % w=v § anfauls

(3) HEH 3R GIR & T Gay

@) gl i ot gedt W Sftaq & feore gaen wfom

1[Option ID=10173]
2[Option ID=10174]
3[Option ID=10175]
4[Option ID=10176]
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‘How could a lamp, which does not keep on burning, light another lamp? This statement is
from the book titled ‘Siksha (learning). Who among the following is the author of this book?
(1) Rabindranath Tagore

(2) Sarvapalli Radhakrishnan

(3) Jyoti Phule

(4) Savitribai Phule
‘F1E duh I WE el I 1@ 8, TRl A= €U Fl HE Joil Gehal 8¢ g8 yd e (dieen) sfidew
g&as 8 2 | Frefafiaa 3 8 5 qeas & dws 3 27

(1) TefiegATy TR
(2) G TUFHFVHE
3) SIfea B

ORI R IR

1[Option ID=10177]
2[Option ID=10178]
3[Option ID=10179]
4[Option ID=10180]
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Read the following passage and answer the questions :

An essential function of hegemony involves convincing people to support the existence of a
soclal system that does not support them in return. Marginalised groups do not often protest
or revolt against ideologies that overwhelmingly support privileged groups because, on some
level, they consent to being dominated. This statement prompts an immediate question: Why
would anvone consent to such an arrangement? While dominant ideologies may reflect the
desires and interests of socially powerful groups. for these ideologies to remain dormant or
hegemonic, they must also feature an additional promise. It is in the best interest of the
marginalized groups to accept these beliefs as well. Put another way. members of socially
powerful groups act to have their world view accepted as the universal way of thinking, and
members outside these groups come to accept some of these ideclogies because they appear
beneficial in some way. This is referred to as a process of spontaneous consent because it is
typically informal or unnoticed. The best way to understand the spontaneous consent of
hegemony 1= through an example. A number of ideoclogical components within a nation’s
higher education system may not be in the best interests of students. One dominant belief
suggests that college students should pay for their own education. Despite being affected by
the belief, they accept it. and the ideclogy survives. When such consent fails, however. the
concept of hegemony also explains how dominant ideclogies evolve to contain this failure
through a process of flexible appropriation. In such a situation, it is likely that dominant
cultural institutions will absorb any challenging beliefs, integrate them into the hegemonic
matrix, and re-establish the previous norm. As a result. hegemonic systems never go away.
They simply change form through a process of constant give and take between social group.
Hegemonie ideologlieal structures maintain control in part through the never-ending process
of integration and appropriation of marginalised 1declogles.

g Ty it 9 SR 9 9= 46 | 50 9% F I AU

AT & UH AEYIF FE § UF DI TG % Afeded & gfd mmed g4 & fow o+ stvas
FET A B, S a9t § 39 T8 FE w2 | Hia wg W 39 feememst # iy @ 33 afd
fagre 72 #wd, < fosrifierr-umm Tt #1 srenfus Tmds et €, F=ifE 3 foRf T w enfuuer s 3
T HEHd BM 4 T B © | 39 FU H dehrel I @Sl 2rdl 2 | Hi3 oft sufad i 39 wehn i sweeen % ufa
HEHd BT 87 Seih SUtashRl SERYTIe g €9 & wfFdwnel agg it seoren v fat @i ufafEtia
w8, 39 foemumet & wgw a1 enfuegardt 59 @A & fore s uw sifafem aum 3 faivan oft
e 2 | Hia aggl w1 48 a7 umoned w e w0 8 oft R | o7 a0 & Fa S q g
w9 H YfFqeel! g 3 AfTas gEh H aEiis fbaT & e & ¥ 8 SiEr w1 % o &
£ 3R 3 9gl & TR % U §H [angmet wi SieR FH @ § #ih 3 3% hEl alsh d g
AT & | 38 T TEA GeArd i Ueh SfHAT o w9 § Heiia fea s @ wits ag fafte v @ o 2
A1 I W AN T A | IR & 9f Td: Thd Hewld H Uh 3G & HEH H 48 @l ¥ quen o
Tkt 2 | Rt 3w < 3== e et % offet s S uew faenfei & way fedt d 7 @ w21
T el gRON Gt @ 56 hicts & fornfeia 1 et =2 it fren 1 yam e =ifee ) 5| gwen
d yuifd 89 & e 9 3 EieR W dd @ R T8 femum s+ wdh 21 e, 59 53 yer i weafa
fawar & St 2t enfraes it sraumon Tow w2 o Ry gl femam weha s
ufshan & H1ead | 39 fawerdn ot Uk o fore forssfara et 8 1 30 @i 6t feafa 9 o dwie 2 fop adeasil
Aok HEATT Rt AUl aRom 1 SAeHETa BT 3w SfaTeETel A § i wf 3 qEadi
O I G TG R | giomEEEy sftmerErd sonfaat wt off oo T 2 | 3 At wEl & s
R -7 it ufshan & H1eTm A Fad 9 agad! @ | AT SeTieh St oFifve 9 | i
foaRemat & TR AR faFRem 6 Ft ot T T 39 At sfen & aem 8RR s wEd

Despite hegemony, why marginalised people do not protest?
(1) DBecause they are too weak.

(2) They are not bothered being dominated.
(3) Priviledged groups forcefully suppress them.

(4) Because of the promise that the dominant ideology is in their best interest.
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Read the following passage and answer the questions :

An essential function of hegemony involves convincing people to support the existence of a
soclal system that does not support them in return. Marginalised groups do not often protest
or revolt against ideologies that overwhelmingly support privileged groups because, on some
level, they consent to being dominated. This statement prompts an immediate question: Why
would anvone consent to such an arrangement? While dominant ideologies may reflect the
desires and interests of socially powerful groups, for these ideologies to remain dormant or
hegemonic, they must also feature an additional promise. It is in the best interest of the
marginalized groups to accept these beliefs as well. Put another way, members of socially
powerful groups act to have their world view accepted as the universal way of thinking. and
members outside these groups come to accept some of these ideclogies because they appear
beneficial in some way. This 1s referred to as a process of spontaneous consent because it is
typically informal or unnoticed. The best way to understand the spontaneous consent of
hegemony 1s through an example. A number of ideological components within a nation’s
higher education system may not be in the best interests of students. One dominant belief
suggests that college students should pay for their own education. Despite being affected by
the belief, they accept it, and the ideclogy survives. When such consent fails, however. the
concept of hegemony also explains how dominant ideologies evolve to contain this failure
through a process of flexible appropriation. In such a situation. it is likely that dominant
cultural institutions will absorb any challenging beliefs, integrate them into the hegemonic
matrix, and re-establish the previous norm. As a result, hegemonic systems never go away.
They simply change form through a process of constant give and take between social group.
Hegemonic ideological structures maintain control in part through the never-ending process
of integration and appropriation of marginalised ideclogies.
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What is the acceptance of domination called?

(1)




Hegemony
(2)  Marginalisation
(3) Spontaneous consent

(4) Reflective desire
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Read the following passage and answer the questions :

An essential function of hegemony involves convincing people to support the existence of a
soclal system that does not support them in return. Marginalised groups do not often protest
or revolt against ideologies that overwhelmingly support privileged groups because, on some
level, they consent to being dominated. This statement prompts an immediate question: Why
would anvone consent to such an arrangement? While dominant ideologies may reflect the
desires and interests of socially powerful groups. for these ideologies to remain dormant or
hegemonic, they must also feature an additional promise. It is in the best interest of the
marginalized groups to accept these beliefs as well. Put another way. members of socially
powerful groups act to have their world view accepted as the universal way of thinking, and
members outside these groups come to accept some of these ideclogies because they appear
beneficial in some way. This is referred to as a process of spontaneous consent because it is
typically informal or unnoticed. The best way to understand the spontaneous consent of
hegemony 1= through an example. A number of ideoclogical components within a nation’s
higher education system may not be in the best interests of students. One dominant belief
suggests that college students should pay for their own education. Despite being affected by
the belief, they accept it. and the ideclogy survives. When such consent fails, however. the
concept of hegemony also explains how dominant ideclogies evolve to contain this failure
through a process of flexible appropriation. In such a situation, it is likely that dominant
cultural institutions will absorb any challenging beliefs, integrate them into the hegemonic
matrix, and re-establish the previous norm. As a result. hegemonic systems never go away.
They simply change form through a process of constant give and take between social group.
Hegemonie ideologlieal structures maintain control in part through the never-ending process
of integration and appropriation of marginalised 1declogles.

frafiaa Ty it 9 SR 9 9= 46 | 50 9% F I AU

AT & UH AEYIF FE § UF DI TG % Afeded & gfd mmed g4 & fow o+ stvas
FET A B, S a9t § 39 T8 FE w2 | Hia wg W 39 feememst # iy @ 33 afd
fagre 72 #wd, < fosrifierr-umm Tt #1 srenfus Tmds et €, F=ifE 3 foRf T w enfuuer s 3
T HEHd BM 4 T B ¢ | 39 FU H dohrl I @ 2l 2| Hi3 oft sufFd i 39 wehn i swawen % ufa
HEHd BT 87 Seih SUtashRl SERYTIe g €9 & wfFdwnel agg it seoren v fat @i ufafEtia
w8, 39 foemumet & wgw a1 enfuegardt 59 @A & fore s uw sifafem aum 3 faivan oft
e 2 | Hia aggl w1 48 a7 umoned w e w0 8 oft R | o7 a0 & Fa S q g
w9 H YfFqeel! g 3 AfTas gEh H aEiis fbaT & e & ¥ 8 SiEr w1 % o &
£ 3R 3 9gl & TR % U §H [angmet wi SieR FH @ § #ih 3 3% hEl alsh d g
AT & | 38 T TEA GeArd i Ueh fHAT o w9 # Hehia fa s @ wits ag fafte v @ o 2
A1 I W AN T A | IR & 9f Td: Thd Hewld H Uh 3G & HEH H 48 @l ¥ quen o
Tkt 2 | Rt 3w < 3== e et % offet s S uew faenfei & way fedt d 7 @ w21
T el gRON Gt @ 56 hicts & fornfeia 1 et =2 it fren 1 yam e =ifee ) 5| gwen
d yuifd 89 & e 9 3 EieR W dd @ R T8 femum s+ wdh 21 e, 59 53 yer i weafa
fawa 8 St 2t enfaes it sraamon Ty w2 R R v aeEE femam aehar fafEsm f
ufshan & H1ead | 39 fawerdn ot Uk o fore forssfara et 8 1 30 @i 6t feafa 9 o dwie 2 fop adeasil
Aok HEATT Rt AUl 9Rom 1 SAeHETa HOM 3w SfaqeETel AfaE § i wf SR qEadi
O I G TG R | giomEEEy sftmerErd sonfaat wt off oo T 2 | 3 At wEl & s
R -7 it ufshan & H1eTm A Fad 9 agad! @ | AT SeTieh St oFifve 9 | i
foaRemat & TR AR faFRem 6 Ft ot T T 39 At sfen & aem 8RR s wEd

The dominant ideology survives because of its

(1) Social Power
(2) Flexible appropriation

(3) Beneficial features

(4) Ideological components
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Read the following passage and answer the questions :

An essential function of hegemony involves convineing people to support the existence of a
social system that does not support them in return. Marginalised groups do not often protest
or revolt against 1ideologies that overwhelmingly support privileged groups because, on some
level, they consent to being dominated. This statement prompts an immediate question: Why
would anvone consent to such an arrangement? While dominant ideologies may reflect the
desires and interests of socially powerful groups. for these ideologies to remain dormant or
hegemonic. they must also feature an additional promise. It is in the best interest of the
marginalized groups to accept these beliefs as well. Put another way. members of socially
powerful groups act to have their world view accepted as the universal way of thinking, and
members outside these groups come to accept some of these ideclogies because they appear
beneficial in some way. This 1s referred to as a process of spontaneous consent because it is
typically informal or unnoticed. The best way to understand the spontaneous consent of
hegemony 1= through an example. A number of ideological components within a nation’s
higher education system may not be in the best interests of students. One dominant belief
suggests that college students should pay for their own education. Despite being affected by
the belief. they accept it. and the ideoclogy survives. When such consent fails, however. the
concept of hegemony also explains how dominant ideclogies evolve to contain this failure
through a process of flexible appropriation. In such a situation, it is likely that dominant
cultural institutions will absorb any challenging beliefs, integrate them into the hegemonic
matrix, and re-establish the previous norm. As a result, hegemonic systems never go away.
They simply change form through a process of constant give and take between social group.
Hegemonic ideological structures maintain control in part through the never-ending process
of integration and appropriation of marginalised ideologies.

et Ty 1 98 3R v 9% 46 | 50 9% % I AT

AT o Tk EYIH HE § Teh WHISS Fa8d & Afeded & Ufd @weq ¢ & forw At 6 sTves
FET MEA 2, N ded § 37H THH T FA 2 | iwa g9z I=: 39 foamawen & oty a1 33+ ufd
fagre &1 e, St fsrierr-ume Tt 1 srenfus wmels wedt 3, =ife 3 Rt T w enfer swm 3
T HEHd BH ¢ T Bd € | $H HU U dehiel U9 @l 2Tl 2 | i3 ot SfFd A 96 Jehr <hl sxeeen % ufd
HgHd 2T 8 ¢ Seifeh aeeahit femyne a9 9 afadsnelt wgt it seore o fadt i wfafsfm
Fdl &, 39 foanames & ygw A1 ARNEard 99 @ & fou 39 uw sifafem a=a o A fsivar of
AvaH 2 | divia gt #1 48 G 3 amonsdi # wiwn +1 § ot 1 3= 9l & wer S df it
&Y ¥ vfaqenett T8 39 Afvas g i adifis oo & 7 & =9 8 ©ier F6 F e &8+
2 3R 3 T & T & GeHd 3 CAngwisi H WiHR A T & Fih I 3¢ Rl alh d TTHIg
T & | 39 T TR Fenid ol Uk iR % ¥ § Geiia R S 8wt a9 fafie ' 9 eHeni 2
TN I W AN AL A | e & uft @d: T5d Genfd # UF 3 & qe € 48 als ¥ guen o
Tt 2 | TRt 2w it 3= e uonelt & offer o =i e et & gatem feat ° 8 @ w2
TS FEERR g gt ¢ fF wies & faenfa o oot it e w1 yam e =ifge ) smogmwon
# yuifad 29 & SEeg 3 38 Sier W od 8 o 38 foemem s+ w6t 21 S, 99 59 yeeR i @gafa
fawer & St 2 @t enfaes it sragmn ToE w2 R R yeR aeEsrl e weha e f
ufshe % H1EAH | 39 faward it Tk o e ol gt 8 1 3 @ 6t feufa 9 28 gve 2 fof aeeasnt
AT dear R gl gron F sera Foh 5% enfuaerErd A # whiga ot ot gfad
T H G Tfud st | afmreey snfiaerard sonferat st oft g 7€ @i | 2 amfe ogEl # e
i -7 it ulka & Wiemm | Fad F9 el 8 | SAIIeIaTd) S TEE ST 9 8 Hiwa
fommemeT % A R fafEem & F o 3 5w ge A vl % mem 8 FEE s wEd g




The dominant cultural institutions have the power to

(A)
B)
(©)
D)

Absorb challenges
Maintain relations with social groups
Destroy opposition

Re-establish the prelous norms

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only

(2) (B). and (C) only

(3) (C)and (D) only

(4) (A) and (D) only
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Read the following passage and answer the questions :

An essential function of hegemony involves convincing people to support the existence of a
soclal system that does not support them in return. Marginalised groups do not often protest
or revolt against ideologies that overwhelmingly support privileged groups because, on some
level, they consent to being dominated. This statement prompts an immediate question: Why
would anvone consent to such an arrangement? While dominant ideologies may reflect the
desires and interests of socially powerful groups. for these ideologies to remain dormant or
hegemonic, they must also feature an additional promise. It is in the best interest of the
marginalized groups to accept these beliefs as well. Put another way. members of socially
powerful groups act to have their world view accepted as the universal way of thinking, and
members outside these groups come to accept some of these ideclogies because they appear
beneficial in some way. This is referred to as a process of spontaneous consent because it is
typically informal or unnoticed. The best way to understand the spontaneous consent of
hegemony 1= through an example. A number of ideoclogical components within a nation’s
higher education system may not be in the best interests of students. One dominant belief
suggests that college students should pay for their own education. Despite being affected by
the belief, they accept it. and the ideclogy survives. When such consent fails, however. the
concept of hegemony also explains how dominant ideclogies evolve to contain this failure
through a process of flexible appropriation. In such a situation, it is likely that dominant
cultural institutions will absorb any challenging beliefs, integrate them into the hegemonic
matrix, and re-establish the previous norm. As a result. hegemonic systems never go away.
They simply change form through a process of constant give and take between social group.
Hegemonie ideologlieal structures maintain control in part through the never-ending process
of integration and appropriation of marginalised 1declogles.
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The passage explains

(1) The forced absorption of the marginalized into the mainstream
(2) The establishment of the ideology of the marginalised

(3) The defects of spontaneous consent

(4 The survival of dominant ideology against the challenges
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New regional order includes the following :
(1) Rebalancing of major power relations

2 Growth of intra and extra regional relations

3 Growing respect of soft power

4) All the above
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Asian regional or system 1s characterised by :

(1) Hegemonic Stability Theory
(20 Balance of Power Theory

3) Definite Power Theory

@ (1) and (2) above
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Scope of IR remains cemouflaged because of :

(1)




Language Barriers
) Lack of resources

3) Dominance of Western Knowledge

@) All the above
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Asia-Europe Meeting of 1996 was a platform for :
(1) Equi-basis cooperation
2 Free and informal exchange of views

3) Fight against terrorism

4) All the above
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Who i1s the father of ‘Utilitarian Model :
@ J.S. Mill

2) Jeremy Bentham

3 T.H. Green

4) Herbert Spencer
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Mills doctrine of Individual liberty incorporated the following :

(1) Impulse and desire in man

(2 Spontaniety in human welfare

3) (1) and (2) as above

4) Identify ideal state
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Plato argued on the following :

(1) Life force in man is intelligent

2 Few have insight into ‘good’

3 Society should submit to authority of kings
(4) All the above
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Treaty of Westphalia (1648) ended the;

1) Thirty years war




) Yom-kippur war

3 First world war

4) Sino-Vietnam war
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Hegemony means;

(1) Surrender of a weak state
(2> Emergence of a pre-dominent state

(3) Periods of accommodation

(@) Containment strategy
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The term ‘Detente’ refers to :
(1) Loosening of Tensions
2 Non-produection of results in war

3) Periods of accommodation

@) ‘Prisoner of War’ camp

AT Weg ToREeh! T AT § ¢
(1) T H HA HAA

2 Fg 1 giom 7 ke




® e sElet
@ ‘Fgaal e

1[Option ID=18037]
2[Option ID=18038]
3[Option ID=18039]
4[Option ID=18040]

Sl. No.61
QBID:901011

Glasnost represents ;
1) Re-structuring
(2 Openness

(3) Sovereignty

(4) Socialism
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Foreign policy is influenced by the following personality aspects:

(1) High level of nationalism

2 Belief in ability to control events

3) Low levels of conceptual complexity

a) All of the above
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Balance of power represents

(1) Managing power and state security




) Costs and benefits of Inter-state rivalry

3) Rational Strategy on peace between nations

@) Role of state in conflicts
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Jus Ad Bellum refers to :

(1) When it is Legal to go to war

2> When it is Illegal to go to war
30 When it i1s Legal to go for peace
4> When 1t is Illegal to go for peace
(1) e Jg BT FHF 2 B
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The Nuclear Non-Proliferation Treaty came into force in

(1) 1968
2 1969
3 1970
4 1971
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3 1970
4 1971
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QBID:901016

Emerging Military Technologies showcase the following:
(1) Penetrative patrolling

2 Cyber war

(3) Star wars

) Moon war

I A= e frefafae w5 vefifa s 2

(1) HEh TYd A

2 HEIG
3 TR I
@) H149R

1[Option ID=18061]
2[Option ID=18062]
3[Option ID=18063]
4[Option ID=18064]

Sl. No.67
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Mass atrocity crimes (MAC) include the following:
1) Genocide
(2 Ethnic cleansing
3) Crime against humanity
4) All the above
Tk JIE % Ay (T °§ Fefafaa w2
(1) SH-HER
(2) S HER

@) gHaEd % faweg ooy
@) 39 ot

1[Option ID=18065]
2[Option ID=18066]
3[Option ID=18067]
4[Option ID=18068]

Sl. No.68
QBID:901018

SAARC agreed on which of the areas of cooperation:
(1) Agriculture and Rural Development

(2> Human Resources Development




(3) . "
Tele-communication

) All the above

o frfafaa 9 & weam & fFe & ™ eda gan o -
1y B R g fwm

(2) A wEe faehE

(3) G-EER

@) IGUH gt

1[Option ID=18069]
2[Option ID=18070]
3[Option ID=18071]
4[Option ID=18072]

Sl. No.69
QBID:901019

‘Coalition of the willing’ was propounded by:

1) USA
(2 Europe
(3 Austraha

4) China

=gk ol TEaY 1 Sfaurea feraa fomam o -
(1) T TT ST

@) -

1[Option ID=18073]
2[Option ID=18074]
3[Option ID=18075]
4[Option ID=18076]

Sl. No.70
QBID:901020
The 4th Great Debate reflects the following:
1) Social constructivism
2) Post-structuralism

3 Green politics

@) All of the above
e 2 Tesie f=ferfiaa =/ g w2 -

(1) GHEI EHEETG
(2) IW-TLEAEG

(3)




e
(@) I Ot

1[Option ID=18077]
2[Option ID=18078]
3[Option ID=18079]
4[Option ID=18080]

Sl. No.71
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Hyperglobalism depicts the following:

(1) Revolutionary shifts in political tectonics
(2 Technological determinism

(3) Borderless world
(4) All the above

BTty (3fd Sfvaswane) fF=fafea #t zwiar 2 -
1) TeHIfaS Toae! B shifasrl afeda

@ YrefiEh T

) HHrled faga

@ 9 T+t

1[Option ID=18081]
2[Option ID=18082]
3[Option ID=18083]
4[Option ID=18084]

Sl. No.72
QBID:901022
One factor in ‘death of cold war’ is :
(1) Structural defects in Soviet-style communism
(2 Triumph of Neo-liberalism

3) New technology

4) Politico-migratory flows

fid g % AT H Th FF @

@ aifea Seft % argar § e g
(2 TA-3GRETE Hi fosm

() =5 dreEifEh
() TS arEl 1 yaTE

1[Option ID=18085]
2[Option ID=18086]
3[Option ID=18087]
4[Option ID=18088]

Sl. No.73
QBID:901023

Hegemonia in Greek means:




M Gocial order

2 Ledership
3) Diplomacy

(4) Anarchy
e W § gemitEr e R

(1) HHTh STTE

1[Option ID=18089]
2[Option ID=18090]
3[Option ID=18091]
4[Option ID=18092]

Sl. No.74
QBID:901024

Company theories of imperialism include:

1) Conservatism — Preserve existing social order
2 Self-determinism

3) Global civil society

(4) Multilateralism
HTSaTe % Sl frgial § i 2
() ®fgare : yafera amfses sracer 1 wifim a
@ ayren-fiofa
) Afvae fafaa Femd
@ guaiET

1[Option ID=18093]
2[Option ID=18094]
3[Option ID=18095]
4[Option ID=18096]

Sl. No.75
QBID:901025
Sustainability of international relations incorporate;
(1) Maintenance of ecological process
(2) Sustainable use of resources

3) Maintenance of bio diversity

4 All the above
ST Hayt i Tadar § e 2 -

(1)




yTitfesafada gfsFn 1 @@
(2) HEYE! & Taqd 3T

@) Aa-fafaya = wwEE

(4) 3IqUH gt

1[Option ID=18097]
2[Option ID=18098]
3[Option ID=18099]
4[Option ID=18100]

Sl. No.76
QBID:901026

Which of the following are called ‘Four Asian Tigers™?
(1) Hongkong, Singapore, South Korea and Taiwan
2 India, Pakistan, Sri Lanka and Vietnam

3) China, Bhutan, Myanmar and Vietnam

4 North Korea, Japan, China and India
fefafas 4 & fret ® oime e & ST 27

@ g, T, afgrr wifen, qgam
) YRd, ke, e 3 e

@ =fF, g, PR R o
(4 3 HIET, IE, =7 N 9E

1[Option ID=18101]
2[Option ID=18102]
3[Option ID=18103]
4[Option ID=18104]

Sl. No.77
QBID:901027

LPG refers to:

(1) Liberalization, Privatisation and Globalization
(2> Liberalization, Penalization and Globalization
3 Liberalization, Privatisation and Government

4) Liberalization, Penalization and Government
U .S foreR gefifa = 2

() IerieRtor, fsfietor it Syefiero

(2) SR, ZUEEROT 37T dveie

@) Ierie, e s wer

(4) IR, GUEIHLT ST TR

1[Option ID=18105]
2[Option ID=18106]
3[Option ID=18107]
4[Option ID=18108]

Sl. No.78




QBID:901028

Environmental movement in IR involves:
(1) Resource problems

(2> Sink problems

3) Ethical problems

4) All of the above

AT Ha9 | T TgeE § mibd 2
1) YT -GIE

@ iR -wHEd

) Hifa s g

@) 3ITIE |t

1[Option ID=18109]
2[Option ID=18110]
3[Option ID=18111]
4[Option ID=18112]

Sl. No.79
QBID:901029

“Just War” model depicts that;
(1) War is justified
(2 War 1s ethical

(3 Human intervention
(@) All the above
= T gg (S aR) Aisa el fafa #a e
W) gg SAFETd 2l
@ g Hifa-fawes 2|
(3) HHd gEaay
) IFH A

1[Option ID=18113]
2[Option ID=18114]
3[Option ID=18115]
4[Option ID=18116]

Sl. No.80
QBID:901030

Critical approaches to human rights have;

(1) Recast the hiberal views on human rights
2 Recast global justice system
3) Transformed Feminist Movements

4) Brought in cosmopolitianism

qHa AR o 91§ =TS 397 |
) HEE ARGFER T TR § 3R = @ 9 2

(2)




Afgares = yoneft it R & gren S @
(3) T} STEe ®uiEiE R S # |
@) siETferefaes (favaam) o S 2 |

1[Option ID=18117]
2[Option ID=18118]
3[Option ID=18119]
4[Option ID=18120]

Sl. No.81
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International Aid comprises of;
(1) Humanistic view of poverty

2 Global terrorism

3) Realpolitic

) Pacifism

e Ts (afafgefier werm) 3 wfte 2
@  fidaa % IR § aeadErd g

2 dfvaw AesarE

) feemifafes

(4) TNfaTe

1[Option ID=18121]
2[Option ID=18122]
3[Option ID=18123]
4[Option ID=18124]

Sl. No.82
QBID:901032

Paris peace conference was held on

(1) 1918-19
2 1919-20
3) 1920-21
4 1921-22

Ut wiifa TeeH e STt foham T o -

1 1918-19
) 1919-20
3 1920-21
(@) 1921-22

1[Option ID=18125]
2[Option ID=18126]
3[Option ID=18127]
4[Option ID=18128]

Sl. No.83
QBID:901033

Herman Daly is recognized for his work on

(1) Steady State Economics




2 Global Financial Management
3) International Trade Economics

@ International Market Economics

T Soft i fopges IR § 39ht a6 fore s i &
@ T () @ fer srdfwme

@ Afvges Bl yEuA

(3) SRR IR Haieft sveforre

@) SFqUY SR Feeft srefvrE

1[Option ID=18129]
2[Option ID=18130]
3[Option ID=18131]
4[Option ID=18132]

Sl. No.84
QBID:901034

‘Democratic Peace’ thesis proposes the following;
1) Democracy and peace are at logger heads

(2 Democracy and peace are inter-linked

3) Democracy and peace lead to war

@ Peace does not lead to democracy
Arepaitre e i Ffrm (v Fefafes 9 8 froh g = dt 2 -
(1) AR A T ASH -3 T 3% & 2
(2) ARdA SR wifd SFe-wEtE § |

3) Wihda 3 Ifd g 1 WH T B @ |
@) Ifq Ahaa 1 TR T9RG TEl H 2 |

1[Option ID=18133]
2[Option ID=18134]
3[Option ID=18135]
4[Option ID=18136]

Sl. No.85
QBID:901035

‘Incrementalism model’ in International relations is linked to;
(1) Uncertain Decision Making

2y Volatile Decision Making

(3 Rational Decision Making

@ Irrational Decision Making
S Hayg ¥ fiafgan viea frad wefd 2 -
) 3ffrEa foR Fwen

) HSFS o wE
(3)




Feharra AT
(4) difhep ol

1[Option ID=18137]
2[Option ID=18138]
3[Option ID=18139]
4[Option ID=18140]

Sl. No.86
QBID:901036

Who said “There 1s no such thing as a society. There are only individual men, women and

families™

(1) Nelson Mandela
2 George Bush

(3) Margaret Thatcher

(4) Peter Botha

fopem e o - “TmTS St IS 19 AL 2 | A SR €9 § e, Aigm 3t uiEn Bd § 17
(1) JoE He

@ S g9

) T 9

@) e den

1[Option ID=18141]
2[Option ID=18142]
3[Option ID=18143]
4[Option ID=18144]

Sl. No.87
QBID:901037

Did economic globalization support the advance of Neo-liberalism?
1) Yes
2 No

3) Somewhat

(4) Perhaps
F1 e Avliaor 3 T9-3gRATE F AT deq 1 auedq foEm ar?

@) orgr-ar

() GHId:

1[Option ID=18145]
2[Option ID=18146]
3[Option ID=18147]
4[Option ID=18148]

Sl. No.88
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What is true about “Pluralism’?
1) It 1s a meta-ethical idea
) It 1s an epistemological connotation

(3 It is a notion of reason

@ Tt is related to teleology
TEAATE F AN H T GG 2 7
(1) IE Tk AAfae famm 2
(2) F8 U FE-HuiE qond 2 |
3) Ig Ffth ht Tk Ggron 2 |

4) Tg FASHER ¥ Teid 2 |

1[Option ID=18149]
2[Option ID=18150]
3[Option ID=18151]
4[Option ID=18152]

Sl. No.89
QBID:901039

Who wrote the book ‘Clash of Civilizations™
1) Karen A. Mingst

2 Howard J. Wiarda

3) Samuel P. Huntington

@ Terry O Callaghan

s T S L T A 2
1 F4 U, iz

@ T o, faame

) Tgere qi. gferen

@ & A FremE

1[Option ID=18153]
2[Option ID=18154]
3[Option ID=18155]
4[Option ID=18156]

Sl. No.90
QBID:901040

American War of Independence was a manifestation of;

(1) National Self-Determinism

(2 Assertion of Radical Liberal Principles

(3 Belief in Liberal Propositions

4) All the above
TR waaa gum frae sifisafE or -




© g sen-fofg

) g Igrael g ® o
(3 IERATE MYR-FIAT # fovam
@ 3I7h Gt

1[Option ID=18157]
2[Option ID=18158]
3[Option ID=18159]
4[Option ID=18160]

Sl. No.91
QBID:901041

Which of the following supports climate change?

(A) There 1s a wide gap between recognizing problem of global warming and effective

international action

(B) Capitalism is not anti-green

(C) Renewable energy is likely to boost reduction in fossil fuel

(D) Changes in economic restructuring is likely to reduce global warming
(E) Changing unequal human values

Choose the correct answer from the options given below :
@ (A), (B) and (C) only
@ (B), (O), (D) and (E) only
@) (O). (D). (A) and (E) only
@ (A), (B), (C), (D) and (E) only

frafafad & & F9 & Joayg giEds % e = 87

A) Afvas qo Fi TS F GEE TF I0E ISROEE FRETE F S T a0
(B)  tsfiame o &f aerern % faes € 2 |

(C)  Frerolig St gro Sfamed e o asft o i o f s |

(D) it g 7 ufads & Afvas e &6 fomar s awar 2 |

(E)  3/9H 9a gedi | gigdq

H= fau U famedi # @ wE) I % = Hifve
@ Fad (A), (B) 3R (C)

2 Fad (B), (C), (D) 3 (E)

@ 3 (C), (D), (A) 3 (E)

(4)




e (A), (B), (O), (D) ¥ (E)

1[Option ID=18161]
2[Option ID=18162]
3[Option ID=18163]
4[Option ID=18164]

Sl. No.92
QBID:901042

Identify correct statements about feminism

(A) First wave of feminism was based on liberal goal of sexual equality in legal and

political rights
(B) Second wave of feminism had higher radical concern with ‘women’ liberation

(C) Androgyny implied that humans are sexless persons and that is irrelevant to their

social roles
(D) Essentialism reflected radical reforma in early sixteenth century
(E) Androgyny implied that all humans are equal
Choose the correct answer from the options given below :
@ (A), (B), (C) and (E) only
2 (B), (C), (A) and (D) only
@ (A), (C), (D) and (E) only

@ (A), (B), (C), (D) and (E) only

TriaTg % I’ @ FuAi Al fafea i

(A)  TriaTE Hr veelt oTet FH SR Temfae afus § Sfis aumar % Ienard deg Wi o |
(B)  riiarg i gadl @t =it qfn % @y st swargEe o |

(C)  Syfeafiar %1 7T R 6 o S o <afte i @ i gl amfes ufieer a2 |

(D) TcaaTs (SEfaafcrsn )R Hiced! 841 § 30 guri % ®9 7 TeRiA 8@ 2 |

(B)  3wafafiran &1 71 2 o avft 7 e 2

= fou o faeedt ° @ B SR F ==e Hifsw
@ F4 (A), (B), (C) 3 (E)
@ a9 (B), (0), (A) 3 (D)
@ 4 (A), (0), (D) 3 (E)
@ Fad (A), (B), (C), (D) 3 (E)

1[Option ID=18165]
2[Option ID=18166]




3[Option ID=18167]
4[Option ID=18168]

Sl. No.93
QBID:901043

Economic and Social Council supervises following UN institutes :

(A) World Bank
(B) UN Secretary General
(C) International Monetary Fund (IMF)

(D) World Trade Organisation (WTO)
(E) World Health Organisation (WHO)
Choose the correct answer from the options given below :
@ (A), (B), (C) and (E) only
@ (B), (C), (D) and (E) only
3) (A), (C), (D) and (E) only
@ (A), (B), (C) and (D) only
anfdfer ud mmfe uftvg Frafofaa @3 oy geumi it genfod @ 2

@) fovadw
(B) =g g HEwfE
(C)  SA=RUEH Hg1 Y (1§ TH TH)
D) fova =amR e (sseg & =)
(E) foava wre e (Sseg ua )
Fr= feu o foeredt @ | OE 3w 1 == A -
= (A), (B), (C) 3 (E)
@ % (B), (O), (D) 3R (E)
@ %ad (A), (0), (D) 3R (E)
@ F (A), (B), (C) 3R (D)

1[Option ID=18169]
2[Option ID=18170]
3[Option ID=18171]
4[Option ID=18172]

Sl. No.94
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Which all are the major organs of UNO?

(UNHCR) United Nations High Commission for Refugees

(A) The General Assembly

(B) The Security Council

(©) The International Court of Justice
D)

(E) Food and Agriculture Organisation

Choose the correct answer from the options given below :

M (A), (B) and (C) only
2 (B), (C), (D) and (E) only
3 (0), (D), (A) and (E) only

@ (A), (B), (C) and (D) only

T Y & Y@ AT S H 87
(A)  HEmEH

(B)  ram uftwg

(C) UL A

(D) &g Tg TRomfl IR (0 o H )

(E) @@ g FfN |1

= fou 7o faereat § O ot I & 999 Hifyu -

@ Had (A), (B) 3R (C)

@ e (B), (0), (D) 3R (E)
@ %= (C), (D), (A) 3 (E)
@ A (A), (B), (C) 3R (D)

1[Option ID=18173]
2[Option ID=18174]
3[Option ID=18175]
4[Option ID=18176]

Sl. No.95
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The Key features of global governance include the following :

(A)
(B)
(©)
D)

(E)

Polycentricism

Inter governmentation
Mixed actor involvement
Multi level process

Deformalisation

Choose the correct answer from the options given below :

1) (A), (B), (C) and (E) only

@ (A), (B), (C) and (D) only
@) (A), (B), (D) and (E) only

@ (A), (B), (OC), (D) and (E) only

v smam it v vt § frefafea e &

A)  FgHEER

(B) a3

()  fafya Fre gue

(D) =gt i

(E) fa=dem

Hr= fou o foeredt § & @t 3w F1 == i

@ Had (A), (B), (C) 3 (E)

@ a4 (A), (B), (C) 31 (D)

@ Fad (A), (B), (D) 3 (E)

@ e (A), (B), (C), (D) 3 (E)

1[Option ID=18177]
2[Option ID=18178]
3[Option ID=18179]
4[Option ID=18180]
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The Muslim Brotherhood founded in 1928 in Egypt was committed to the concept of :

(A) Daawa
(B) Salafiyya

(©) Largely focused on religion
(D) Focussed on opposing all non-muslim community
(E) Obedience as per traditional islamic injunctions
Choose the correct answer from the options given below :
@ (A), (B), (C) and (D) only
@ (B), (O), (D) and (E) only
@ (A), (B), (C) and (E) only

@ (A), (B), (O), (D) and (E) only

fi § 1928 ¥ gfecw sigtgs i fa wlf 1 S = Gepew 8 a9deg o

(A) g

(B)  HewA

(C)  =amush i 9t 9 i

(D)  off W-gieem ayemt @ i w H=a
(E)  urufes seamdt fami & Sam S e

= fou o feedi @ @ @@ I w T Fif
) el (A), (B), (C) 3R (D)
@ e (B), (C), (D) 3R (E)
@ % (A), (B), (C) 3 (E)
@ % (A), (B), (C), (D) 3 (E)

1[Option ID=18181]
2[Option ID=18182]
3[Option ID=18183]
4[Option ID=18184]
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Arab spring offered which all benefits to Al-Oaeda?

(A)
(B)
(©)
D)

(E)

Confrontation between liberals and mainstream Islamic groups

Prepare ground for extremist upsurge on failure of main stream Islamists group
[slamist upsurge if Islamist groups do not gain power through elections
Islamist groups were threatened by Al-Oaeda

Secterian divide between Shia and Sunni groups

Choose the correct answer from the options given below :

1) (A), (B), (C) and (D) only

2 (A), (B), (D) and (E) only

3 (A), (B), (C) and (E) only

@ (A), (B), (), (D) and (E) only

e O 9 SAA-FeT ! HF ¥ 1Y Y2 fohan?

(A)  3IERETE Ud &I U % SEATHE T H A

(B) HEA 9N % FEAIHE g I [IHadl W AfErd] 9R % e SR ¢an FE
(C) 3% seamdft Tgl #i A % g T 7 el W st 3R

(D)  sEAnf g AA-FEE g GHEE T o

(B) e ik goft augl & &9 ° onuedt qavg

T fu o fompedi # & W& 3T w1 = AR

W Feel (A), (B), (C) 3t (D)

@ a9 (A), (B), (D) 31 (E)

@ *Had (A), (B), (C) 31 (E)

@ Fad (A), (B), (C), (D) 3 (E)

1[Option ID=18185]
2[Option ID=18186]
3[Option ID=18187]
4[Option ID=18188]
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Which

(A)
B)
(©)
D)

()

of following are disputed areas in India-China Conflict?

Tanghdhar
Arunachal Pradesh

Finger Area
Shaksgam Valley

Galwan Valley

Choose the correct answer from the options given below :

@ (A),

(B), (C) and (D) only

@ (B), (C), (D) and (E) only

@) (O), (D), (E) and (A) only

@ (A), (B), (C), D) and (E) only
frfafed 4 & #9 ¥ & wra—<H & = foafed 87

(A)  drER

(B)  FrwTEE Yewl

(C) TFw &=

(D) TG e

(B) 7ol uiét

H= feu o fompedl # & @t I % == Fifve

@ a9 (A), (B), (C) 31 (D)

@ % (B), (C), (D) 3 (E)

@ a4 (C), (D), (E) 3T (A)

@ Had (A), (B), (C), (D) 3R (E)

1[Option ID=18189]
2[Option ID=18190]
3[Option ID=18191]
4[Option ID=18192]
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India and Russia support each other under the following treaties?

(A) RIC
(B) BRICS

(C) 1971 Treaty of Friendship and Cooperation
(D) NATO
(E) IRIGC
Choose the correct answer from the options given below :
@ (A), (B), (C) and (D) only
@ (A), (B), (C) and (E) only
@ (B), (C), (D) and (E) only
@ (A), (B), (C), (D) and (E) only
WA 371 &9 T g8l 1 THA Fd & IR Fefafaa aftei 3 9 3 fora afy & wm &7

@A) e @

(B) o (ft o1 g +ft ww)

(C) 1971 wra-difaa &=t afy

(D) A

(B) =1 & 3 St &t

H= feu o faepedt # @ w@) 39 % =4 Hifvw
@ Fa (A), (B), (C) 3 (D)

@ % (A), (B), (C) 3 (E)

@ Fad (B), (C), (D) 3 (E)

@ % (A), (B), (C), (D) 3K (E)

1[Option ID=18193]
2[Option ID=18194]
3[Option ID=18195]
4[Option ID=18196]
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Which points are part of Action Plan for future of E U-India Strategic Relationship?

(A) Strengthening dialogue & consulation mechanisms
(B) Political dialogue & cooperation

(C) Bringing people & culture together

(D) Economic policy dialogue

(E) Developing trade & investment ties

Choose the correct answer from the options given below :
1) (A), (B), (C) and (D) only
2 (B), (C), (D) and (E) only

@ (C), (D), (E) and (A) only
@ (A), (B), (C), (D) and (E) only

v e - T 3 R de ¥ whe ¥ o 9 @ feg 37

(A)  Jra v S g R gge
(B)  USHfaes ardiemd & gedm

(C) i ud wepfaai sl @19 M

(D) =i Hifs amiem

(E) =R wd faw meaun faswttd we

fr= fo o foeredt # @ Tt s == Fifv
@ Fd (A), B), (C) 3R (D)
@ Fad (B), (C), (D) 3R (E)
) Fad (C), (D), (E) 3 (A)
@ Fae (A), (B), (C), (D) 3 (E)

1[Option ID=18197]
2[Option ID=18198]
3[Option ID=18199]
4[Option ID=18200]
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BRICS include following countries?

(A) China

(B) Russia

(C) India

(D)  Britain
(E) Singapore

Choose the correct answer from the options given below :
1 (A), (B) and (C) only
@ (A), (B), (C) and (D) only
3 (A), (B), (C), (D) and (E) only
@ (B), (C) and (D) only

fore § Ffafiga <o mfte 2
(A) ==

(B) w4

(C) 9@

D) fe=

(E) g

e feu e foeredt & & @&l 39 1 =@a Hif
) Faa (A), (B) 3 (C)
@ FFE (A), (B), (C) 3 (D)
3 FFE (A), (B), (), (D) 3R (E)
@ e (B), (C) R (D)

1[Option ID=18201]
2[Option ID=18202]
3[Option ID=18203]
4[Option ID=18204]
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Which year witnessed Indo-Pak wars?

(A)  1947-48
(B) 1962
(C) 1965
D) 1971
(B) 1999

Choose the correct answer from the options given below :
@ (A), (B), (C) and (E) only
@ (A), (B), (C) and (D) only
@ (A), (C), (D) and (E) only
@ (B), (C), (D) and (E) only

WRA-9T% Jg fohd ani # g 97

(A) 1947-48

(B) 1962
(C) 1965
D) 1971
(E) 1999
e fou e foehedt # & a8t 3 1 ==a i

A (A), (B), (C) 3 (E)
@ % (A), (B), (C) 3 (D)
@ F9 (A), (C), (D) 37 (E)
@ Fd (B), (0), (D) 3R (E)

1[Option ID=18205]
2[Option ID=18206]
3[Option ID=18207]
4[Option ID=18208]
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What are the reasons of melt down of Sri Lankan economy in 20227

(A) Poor governance

(B) Chinese debt trap

(C) US interference

(D) Internal administrative failure

(E) Single family domination in politics (Dynasty politics)

Choose the correct answer from the options given below :
@ (A), (B), (C) and (D) only
@ (B), (C), (D) and (E) only
3 (A), (B), (D) and (E) only
@ (C), (D), (E) and (A) only
2022 # #fi 1 i TSI F TG % FRO FT 77

(A)  FHHSIR I

(B) it = =

(C) ol gemam

(D) Tt et e

(E)  ToHifa 4 ush ufEr =1 et (Svrma i)

= feu e fashedt # & W& W w1 934 i
@ F (A). (B). (O) 3R (D)
@ Fa (B), (0), (D) 3 (E)
@ e (A), (B), (D) 3R (E)
@ Fad (C), (D), (E) 3 (A)

1[Option ID=18209]
2[Option ID=18210]
3[Option ID=18211]
4[Option ID=18212]
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Bilateral issues between India and Bangladesh include following :-

(A4)
B)

(©)
D)

(E)

Water concerns

Migration
Islamist fundamentalism
Both countries agreed to deny terrorists activities that emanate from Indian territory

Transportation of natural gas pipe line from Myanmar to India

Choose the most appropriate answer from the options given below :

1) (A), (B), (C) and (D) only

2 (B), (C), (D) and (E) only

@ (C), (D), (E) and (A) only

@ (A), (B), (C) and (E) only
WA I aTeney & wea fguafi qei § fafafaa i @

(A)

(B)

©)

D)

(E)

I AR

BEIL]

LA Ffegang

AT & ¥ Fere arefl stderane] nfafafrn = gieam w 2=t 29 i geufa

TR & YRG! Wl 19 IS5 A1e4 1 Iiae

e fou U faehedi § § g 3UYwh 3L A TN I

@ = (A), (B), (C) 37 (D)
@ %Had (B), (C), (D) 3R (E)

@ Faa (C), (D), (E) 31T (A)

@ FHad (A), (B), (C) 3R (E)

1[Option ID=18213]
2[Option ID=18214]
3[Option ID=18215]
4[Option ID=18216]
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What are the key factors for Tulip Revolution?

(A4)
(B)
(©)
D)

(E)

Allegations of vote-rigging

Half of the population of Kyrgyzetan lived under poverty

Heavy external debt, five times country’s annual income

Massive unemployment due to shutting down of soviet built factories

World bank reported excellent administration and zero curruption

Choose the most appropriate answer from the options given below :

1) (A), (B), (C) and (D) only
@ (B), (C), (D) and (E) only

3 (A), (C), (D) and (E) only

(4)

(A4), (B), (C), (D) and (E) only

=T fategee & @ wRe 741 8 7

(A)

(B)

©

D)

()

7 R 1 AT

fepfifeam i sneh sEe st & ff = wd 2

W STe ST <3 kY itk 3T | uie AT R

wiferrd g ST T HfFEl % s @ o HHor W SRS 2

foryar ok 3 Tt yamEd o I Y gfhEfa R R

T fou U foskedt # 8 T 39 ST A =9 HIT ;

(1) Fad (A), (B), (C) 3R (D)

@ FHad (B), (C), (D) 3 (E)

(3)

e (A), (O), (D) 3 (E)

@ FaE (A), (B), (C), (D) 3R (E)

1[Option ID=18217]
2[Option ID=18218]
3[Option ID=18219]
4[Option ID=18220]
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Which all are correct for Foreign Direct Investment (FDI)?

(A) FDI is investment by a company in other countries

(B) FDI differs from foreign portfolio investment

(©) Investment in a foreign country via the acquisition of a local facility
(D) Loans from private financial institution in one country
(E) FDI impacts economy of a country immediately

Choose the most appropriate answer from the options given below :
@ (A), (B), (C) and (D) only
@ (A), (B), (C) and (E) only
@ (B), (C), (D) and (E) only
@ (A), (B), (C), (D) and (E) only

weag faesft fam (v € o) & fom Froefarfiaa & @ #9 @ w 27
(A) T S AR TF FOA GRS b Frew

(B) uk gt o1 faew fovm faw @ i 2

(C) &l gl afvia #ek fogw & faw

(D) et 2w A fosft foefta weemi & o

(E) uh & o1 ol 2w i syelfeaasen +i doshrer wwifaa et 8

= fou U foeredi # & Ted SUEE I A 99 HIT
(1) % (A), (B), (C) 3 (D)
2 F9E (A), (B), (C) 3 (E)
@ Fad (B), (0), (D) 3 (E)

@ %= (A), (B), (C), (D) 3 (E)

1[Option ID=18221]
2[Option ID=18222]
3[Option ID=18223]
4[Option ID=18224]
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First SAARC Summit in Dhaka (1985) emphasized on;

(A) To cooperate regionally,

(B) To solve common problems,

(C) To promote economic cooperation

(D) To adjuticate in terms of war

(E) To enhance administrative processes

Choose the most appropriate answer from the options given below :

) (A), (B) and (C) only
@ (B), (C) and (D) only
@ (C), (D) and (E) only
@ (D), (E) and (A) only

T T T et (1985) | forg w wet feam mam o
(A) & T W HEEn &

(B) T GHEATSAT 1 HHIEH HAT

(C)  rfeder wEe i Sicared <A1

D)  Ig Faeft Fof

(B)  vsmEfe gfspaneai s qagq s

= feu o faekedt § © w39 3T 1 =T FIf
) 3 (A), (B) 3R (C)

@ @dd (B), (C) 3 (D)

@ %ad (C), (D) 3 (E)

@ Had (D), (E) 3 (A)

1[Option ID=18225]
2[Option ID=18226]
3[Option ID=18227]
4[Option ID=18228]
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Economic cooperation in SAARC entails :

(A) An integrated South-Asian economy
(B) SAFTA Agreement
(C) Poverty alleviation and eradication
(D) Handloom Textile Development
(E) Rice distribution system
Choose the most appropriate answer from the options given below :
1) (A) and (B) only
@ (B), (C) and (D) only
@ (D), (C) and (E) only
@ (A) and (E) only
AT § a7ifiie weam % fo araves €
A)  whEa STl s
(B) T HEE
() T I i I

(D) By 99 A I

(E) =mae faaor gomeft

e fou o foeredt & & To U I 1 w9 Hif
(1) Had (A) 3R (B)

@ a4 (B), (C) 3 (D)

) %ad (D), (C) 31 (E)

4 Haa (A) 3R (E)

1[Option ID=18229]
2[Option ID=18230]
3[Option ID=18231]
4[Option ID=18232]
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Ethnic nationalism became prominent after:

(A) End of cold war

(B) Disintegration of USSR

(C) Rise of ‘ancestrial homeland’
(D) Onset of globalization

(E) Incursion of LPG

Choose the most appropriate answer from the options given below :
@ (A) only
2 (B) and (D) only
3) (C) only

4 (A), (D) and (E) only

T e ¥ Freffiad % e SgEar o -
A)  fid gg H TEw

(B) 9 UH Ut R & fa@sq

(C) U TEA H 357

(D) Syt F T

(B) T b it 1 R

Hra fau 7o foeredi & | Taw IUgE I F TH HIC
(1) A (A)

(2) =ad (B) 3 (D)

@ FHad (C)

@ FHad (A), (D) 3R (E)

1[Option ID=18233]
2[Option ID=18234]
3[Option ID=18235]
4[Option ID=18236]
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International Law varies on several dimensions. Which are important dimensions?

(A) Obligation
(B) Felicitation
(C) Precision
(D) Delegation
(E) Reception

Choose the most appropriate answer from the options given below :
@ (A), (B), (C) and (D) only
@ (A), (B) and (C) only
@) (A), (C) and (D) only
@ (B), (C), (E) and (D) only

Y FHA 33 Al 8 5= 2 2 | Frafafaa 3 8 #1 9 smard weeag 27

(A) e

(B) =g

(C)  Funedan
(D)  wiafftmEss
(E) w@rd

e f2u U foeredi & & Tod SUE 3T 1 9 Hife
) e (A), (B), (O) 3 (D)

@ Had (A), (B) 3 (C)

@ *Fd (A), (C) 3R (D)

@ FIe (B), (C), (E) 3 (D)

1[Option ID=18237]
2[Option ID=18238]
3[Option ID=18239]
4[Option ID=18240]
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The National Front for Liberation of South Vietnam promised following objectives :

(A)
(B)
(©)
D)

()

Release all political prisoners unconditionally

Guarantee freedom to all mass organisations

Carry out freedom of opinion and freedom of the press
Abrogate the constitution and dissolve the National Assembly

Dissolve authority of factions supporting North Vietnam

Choose the correct answer from the options given below :

1) (A), (B) and (C) only

2 (B), (C) and (D) only

@ (A), (C), (D) and (E) only

@ (A), (B), (C) and (D) only

eferoft fepraema i gt & foe wefta e 3 Fefofaa f5 seval =1 g & &1 e fen

A) =t Teifaes St F o o e

(B) |t 512 Tl F wEaFar H T

(©) foami va | H @ Jgre HE

(D)  @fum =1 Foa w6 @ w s i1 e

(B) 30t foadam =1 ¥9eH <o ardl Tl & Wi &l §6H HE
e fau e foeredi # & @&l 3T 1 w=A Hif

@) % (A), (B) 3 (C)

@ g (B), (C) 3T (D)

(3)

el (A), (O), (D) 3 (E)

@ a4 (A), (B), (C) 3 (D)

1[Option ID=18241]
2[Option ID=18242]
3[Option ID=18243]
4[Option ID=18244]
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Which statements about Kargil War are correct?

(A) It was fought between India and Pakistan

(B) It was fought in 1997

(C) Kargil sector is part of greater Himalayas in Indian Territory
(D) Kargil was master minded by General Pervez Musharraf

(E) US actively supported Indians Army

Choose the most appropriate answer from the options given below :
@ (A), (B), (C) and (D) only
@ (4), (C) and (D) only
@ (A), (D) and (E) only
@ (A), (B), (D) and (E) only

FRAT gg = TIY W R A FYT TA 87

(A)  I2 g WA SN UIiHEd & s a1 T 9@ |
(B) 3® 1997 § ST 7T oT |

(C)  FROA & W 98 o Ut faume =1 9 2 |
(D) HRAA TR WA GIE h TGArT Fr 30 o |
(E)  3.U4. 3 9 &1 Fi afmg w7 @ wmee fam |

= 5w U fospedt ® & T 3UgH ST A =9 RN ;
@ I (A), (B), (C) 3 (D)

@ Had (A), (C) 3T (D)

@ Had (A), (D) 3K (E)

@ A (A), (B), (D) 3 (E)

1[Option ID=18245]
2[Option ID=18246]
3[Option ID=18247]
4[Option ID=18248]
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Which all statements define Indian Foreign Service?

(A) Indian Foreign Service was originally clubbed together with Indian Civil Service only

(B) Indian Foreign Service was originally clubbed together with Indian defence forces
and Indian Civil Services

(C) Indian Foreign Service is responsible to maintain diplomatic relations with other

countries
(D) Head of an embassy (Indian) is not necessarily an IFS Officer
(E) Foreign ministry and IFS are non-related institutes
Choose the correct answer from the options given below :
@ (A), (B) and (C) only
@ (B), (C) and (D) only
@ (C), (D), (A) and (E) only
@ (A), (B), (C) and (D) only

qRr frw g9 w1 ghyfia w0 g efafas § 3 9-3 a9 30

(A) YR ey a1 wi goa: YR SSEiE 941 & a1y g afsfoa fRen mm e |

B)  uRdE ey Fan F goa: YRR & 491 3R YR T 94T o a1y Gelg R o |
(C) el fogw Jan 3 9 % WY FeAifaE TuT A T T F fore e # |

(D)  EETEwE (W) FTGE TF I O T SR g R |

(B) e worrer wdl et foreer G sie geifed deemd 4 € |

Hr= fou 7o feredi § @ aft 3w %1 w9 FifC

) F (A), (B) 3 (C)

@ e (B), (C) 3 (D)

@ % (C), (D), (A) 3 (E)

@ & (A), (B), (C) 3 (D)

1[Option ID=18249]
2[Option ID=18250]
3[Option ID=18251]
4[Option ID=18252]
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Which of the following are the objectives of ASEAN

(A) To increse competition among the members countries for better products

(B) To integrate the economics of the region to make region more attractive for investors

(©) To promote economic cooperation in Southeast Asia and ensure economic stability in
the region

(D) To promote International adjudication

(E) To integrate socio-economic cooperation in south east Asia

Choose the correct answer from the options given below :
1) (D), (A) and (E) only
@ (C), (A) and (D) only

3) (A), (B) and (D) only
@ (B), (C), (D) and (E) only

frafafaa & @ #1F 8 o faaH % 39T 27

(A) g 3T % o gew-ge % s ufaeaut seEm |

B) Tl =t i g & e 58 &3 i Tderaryrsti # whigd FE |

(C)  zferor-gd ufien H anfie Heam i WeTed o 3R 39 & § onfde Tonfaea gfafvad e |
(D)  sAatgr sifufel # Seafed w0 |

(E)  feor-qd oRrn & amf-anfie @i &1 whiga & |

i fau o faeeedi # & | 3T F1 9 Hif

@  Fad (D), (A) 3T (E)

@ FHaa (C), (A) 3 (D)

@) e (A), (B) 3 (D)

@ e (B), (C), (D) 3 (E)

1[Option ID=18253]
2[Option ID=18254]
3[Option ID=18255]
4[Option ID=18256]
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Which countries supported Vietnam War of Independence with military aid :-
(A) India
(B) Australia
(®) China
(D) Soviet Union
(E) Brazil
Choose the correct answer from the options given below :
1) (C) and (D) only
2 (A), (B) and (C) only

3 (B), (C) and (D) only
4 (D) and (E) only

foraaam wdaar 3¢ & e B <t 3 3= wemar #ie

(A) w@

(B)  wwgfern

() ==

(D)  @ifeRrd g
(B)  soffer

Hr= fou o foeredt @ & @t 3T F1 == i

) Faa (C) 3 (D)
@ *Had (A), (B) 31 (C)
@ ad (B), (C) 3 (D)
@ %ad (D) 3 (E)

1[Option ID=18257]
2[Option ID=18258]
3[Option ID=18259]
4[Option ID=18260]
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Match List I with List II

Last T
(A) Mekong — Ganga project
(B) Look East policy
(C) Act East Policy
(D) Gujral Doctrine

List IT
(I) P.V. Narasimha Rao
(IT) Atal Bihari Vajpayee
(ITI) Inder Kumar Gujral
(IV) Narendra Modi

Choose the correct answer from the options given below:

@ (A)-(ID), (B)-(I1D), (C)-(1), (D)-(IV)
@ (A)-(ID), (B)-(D), (C)-(IV), (D)-(I1T)
@) (A)-(IT1), (B)-(10), (C)-(D), (D)-(IV)
@ (A)-(ID), (B)-(I1D), (C)-(IV), (D)-(D)
gt I & @y 11 gt =1 e fifse
g=1-1

(A)  HHRIAT T TS

(B) % $¥e difcrdt

(C) U & uiferd

(D) T fagra

J= feu mu faesredt § 9 wE I 1 994 FifSw -

™ (A)-(D), (B)-(1D), (C)-), (D)-(IV)
@ (A)-(ID), (B)-(D), (C)-(1V), (D)-(1L)
@) (A)-(IID, (B)-(1D), (C)-0), (D)-(IV)
@ (A)-(ID), (B)-(IID), (C)-(IV), D)-(D)

1[Option ID=18261]
2[Option ID=18262]
3[Option ID=18263]
4[Option ID=18264]

gefl-11
(D) .. o= e
(I) s1ee forert et
(IIT) 3 FAR oA
(IV) T A
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Match List I with List IT

List I
(A) Malabar
(B) Milan
(C) Varuna
(D) SITMEX 2020

List II

(I) India, Thailand and Singapore

(II) France —India

(III) India — US — Japan — Australia

(IV) Indonesia, Sri-Lanka,
Thailand

Choose the correct answer from the options given below:

Singapore &




1)

(A)-(I1D), (B)-(IV), (C)-(1), D)D)
)y (A)-1D), (B)-(D), (C)-AV), D)-(1D)
@) (A)-IV), (B)-(1D), (O)-(1D), (D)-(D)
@ (A)-IV), (B)-(11D), (C)-(1D), (D)-(D)
= 1 % Ay 10 g 1 e i

N

(

g1
(A)  HAEH
(B) foem
(C) F&m

(D) @TeHad 2020 (SITMEX 2020)

Hra fou o fomeal ® ¥ OE 3w 1 == A

@ (A)-(I1D), (B)-AV), (C)-1D), D)-(D)
@ (A)-(D), (B)-(I), (C)-(AV), (D)-(11D)

@) (A)-0V), (B)-(1D), (C)-d1I), D)-(D)
@ (A)-IV), (B)-(I1D), (C)-aD), (D)-M

1[Option ID=18265]
2[Option ID=18266]
3[Option ID=18267]
4[Option ID=18268]

TE-11
() wwA, urgeis 3R famg
(1) HE-9Rd
(I1T) ST —3TH TR - ST - ST o
(IV) SSRfern, s, fmg i grels
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Match List I with List I1

List I
(A) Vietnam joined ASEAN
(B) Thailand joined ASEAN
(C) Cambodia joined ASEAN
(D) Philipinnes joined ASEAN

List IT
(I) 8 August 1967
(I 30 April 1999
(I11) 28 July 1995
(IV) 8 August 1967

Choose the correct answer from the options given below:

@ (A)-(1I), (B)-(1D), (C)-@), D)-(IV)
@ (A)-1V), (B)-0D), (C)-(D), (D)-(A1D)
@) (A)-(IID), (B)-(D), (C)-(D), (D)-(AV)
@ (A)-(ID), (B)-(1D), (C)-AV), (D)-(D)




Tt 1 % @ 11 g o faem fifse

g1 -1
(A) fogasm snfeam (ASEAN) # afffaa () 8 37, 1967
e
(B) wrseis amfeem H wftufaa gam () 30 31, 1999
(C) wrarfem smfeem 4 afrafea gam M) 28 JeTE, 1995
(D) forefidia snfaem & afmfaa gem (IV) 8 37T&d, 1967
e fou U faeredt & & @ 3 1 wEE i

@ (A)-(1D), (B)-(D), (C)-@), (D)-AV)
@ (A)-AV). (B)-(ID), (C)-(@), (D)-(ID)
@) (A)-ID), (B)-D), (O)-1D), (D)-AV)
@ (A)-1D), (B)-(1D), (C)-AV), D)-0)

1[Option ID=18269]
2[Option ID=18270]
3[Option ID=18271]
4[Option ID=18272]
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Match List T with List IT

Last I List IT
(A) Adler, E (I) Neorealism and Neo-liberalism; the
contemporary debate
(B) Baldwin, D (I) The International Practice of Arms
Control
(C) Carr, EH (IIT) United Nations Peace keeping

American Politics, and the uncivil
wars of the 1990s

(D) Durch, W (IV) The Twenty Years Crisis : 1919-1939

Choose the correct answer from the options given below:
@ (A)-(), (B)-(IV), (C)-(IID), (D)-(D)

@ (A)-(ID, (B)-(ID), (C)-(IV), (D)-(D)

@ (A)-D), (B)-(I1D), (C)-(IV), (D)-(ID)

@ (A)-(D), (B)-(D), (C)-(IV), (D)-(I1I)




T 1 % | 11 e e A

=l-1
(A) T, S
(B) dresfad €.
(C) =W, 5.4
(D) =, =g
F= feu o fomedt § @ @@ 3w W = Hifv

@ (A)-(), (B)-1V), (C)-(IID), (D)-(T)
@ (A)-(D), (B)-(I1D), (C)-AV), (D)-()
@ (A)-I), (B)-(1I), (C)-AV), (D)-(D)
@ (A)-(ID, (B)-(D), (C)-(AV), (D)-(I1L)

1[Option ID=18273]
2[Option ID=18274]
3[Option ID=18275]
4[Option ID=18276]

gEfi-11
@ Fen-fafase vsfien faaifass: g s=emit
fese
(ID) < SenE dfFed o1ie s e
(1) ATee wr| di| ift, swie aicifea,
Ug ¢ IHfHfaer ard 1% 2 1990 7 (s)

AV) 7 Zat 39 wefaE, 1919-1939
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Match List I with List II

List I
UN Secretary Generals
(A) U Thant
(B) Kofi Annan
(C) Kurt Waldheim
(D) Trygve Lie

List II
Country/Nationality
(I) Norway
(I) Myanmar
(ITI) Ghana
(IV) Austria

Choose the correct answer from the options given below:

W (A)-ID, (B)-1V), (C)-(I), (D)-(1D)
@ (A)-(IID), (B)-AD), (C)-(IV), D)-(D)
@ (A)-(II), (B)-(1I), (C)-(IV), (D)-1)
@ (A)-(IID), (B)-(IV), (C)-(), (D)-I)




g 1 % @y 11 gt &1 faem i

?Eﬁ-I 'Fi\?ﬁ-ﬂ
A) F-9rE @O
(B) il 3= (II) TR
(C) FHd arcedm (III) ==
(D) frma &t aV) smfegn
Fr feu e fasredt ° @ B S # = Hifvw
@ (A)-(ID), (B)-(IV), (C)-(I), (D)-(III)
@ (A)-(IID), (B)-(ID), (C)-(IV), (D)-(I)
@) (A)-(ID), (B)-(I1I), (C)-(IV), (D)-(D)
4 (A)-(IID), (B)-(IV), (C)-(I), (D)-(1D)
1[Option ID=18277]
2[Option ID=18278]
3[Option ID=18279]
4[Option ID=18280]
QBiDB01071
Match List I with List IT
List I List 11
Leaders Countries
(A) Vladimir putin I Syna

(B) Bashar al Assad
(C) Ukhnaagiin Khurellsukh
(D) Carlos Alvarado Quesada

(I) Russia
(II) Costa Rica
(IV) Mongolia

Choose the correct answer from the options given below:

@ (A)-(D), (B)-AV), (C)-(), (D)-(I1L)
@ (A)-(IV), (B)-(11D), (C)-1D), (D)-1)
@) (A)-AID), B)-AV), (O)-(D), (D)-AD
@ (A)-(ID), (B)-(), (C)-(1V), (D)-(I1I)




et 1 & @ 11 gt o faem $ifse

-1 gt-11
Jan L
(A)  =EHR gf (D i
(B) R 3T 4 I %4
(C) IEAIH Giega (ITT) FRTRER
(D) A Fcare! TS (IV) Hmiferan
Hra feu o fompedt # & @& 3 w1 = i -

@ (A)-(D), (B)-AV), (C)-(1), (D)-(1ID)
@ (A)-IV), (B)-(1D), (C)-aL), (D)-1)
)y (A)-1D), B)-AV), (C)-(D), (D)-AL)
@ (A)-(ID), (B)-(@), (C)-(1V), (D)-(I1I)

1[Option ID=18281]
2[Option ID=18282]
3[Option ID=18283]
4[Option ID=18284]

W

(

Sl. No.122
QBID:901072

Match List I with List II

List I List IT
(A) Huntington, S (I)  Global Justice : Defending
Cosmopolitanism
(B) Holsti, K (I) Global Warming and Global Politics
(C) dJones, C (III) Political order in changing societies
(D) Paterson, M (IV) Peace and War: Armed conflict and

International Order, 1648-1989

Choose the correct answer from the options given below:

)y (A)-0), (B)-AD), (O)-(1I), D)-AV)
)y (A)-1D, (B)-@), (C)-AV), (D)-A1I)
) (A)-(ID), (B)-(1V), (C)-(D), (D)-(T)
@ (A)-IV), (B)-AD, (C)-(D), (D)-1I)

[N

(

N

(

W

(




= 1 % | 11 g faam A

-1
A) =, w.
(B) EIewd .
(C) ==, Hi.
(D) diewH, .
Hra fau o foeredi | | ®E 3 #1 =94 A

[

(

)y (A)-D), (B)-(D), (C)-1I), (D)-(IV)
)y (A)-1D), B)-@), (C)-AV), (D)-(1I)
) (A)-(ID), (B)-(1V), (C)-(I), (D)-(T)
@ (A)-IV), (B)-AD, (C)-(D), (D)-1LI)

1[Option ID=18285]
2[Option ID=18286]
3[Option ID=18287]
4[Option ID=18288]

N

(

w

(

TE-11
(D) ToaEe Afeeq: ferfen samafaet=a
(1) To=e FIfdT Ug Toiee qifiiesd
(IIT) uifcréisha AT 37 =TSR THEES
(IV) 98 Ug T 3me FEhade Ug 3eEIHA
3T, 1648-1989

Sl. No.123
QBID:901073

Match List I with Last 11

List I
Countries
(A) South Africa
(B) Iran
(C) Spain
D) Fijn

List IT

Leaders
(I) Pedro Sanchez
(II) Wiliame Katonivere
(IIT) Ebrahim Raisi
(IV) Cyril Ramaphosa

Choose the correct answer from the options given below:

@ (A)-(1I), B)-@), (C)-(1), (D)-IV)
@ (A)-IV), (B)-(ID), (C)-(D), (D)-AD)
@ (A)-(IID, (B)-(ID), (C)-AV), (D)-(D)
@ (A)-(1D), (B)-(1I), (O)-(D), (D)-(AV)




Tt 1 % g 11 gt 1 e fifse
-1

(A) zfeor arhie
(B) T

(C) &M
(D) fosh

Hr= fau T foeredi ®§ & Ot IW F1 WA FHIfC

@ (A)-(1I), (B)-@), (C)-(), (D)-IV)
@ (A)-IV), (B)-(1ID), (C)-(D), (D)-AL)
@ (A)-(I1D, (B)-ID), (C)-AV), (D)-(D)
@ (A)-(II), (B)-(1I), (O)-(D), (D)-(AV)

1[Option ID=18289]
2[Option ID=18290]
3[Option ID=18291]
4[Option ID=18292]

gA-11

D YU G
(1D faferm et

(I Toem
(1v) foufe e

Sl. No.124
QBID:901074

Match List I with List II
List [
(A) SAARC
(B) ASEAN
(C) EU
(D) BIMSTEC

List 11
(I) Brussels
(I) Dhaka
(III) Kathmandu
(IV) Jakarta

Choose the correct answer from the options given below:

@ (A)-1D), B)-@), (C)-(1D), (D)-AV)
@ (A)-(D), (B)-(1D), (C)-AV), (D)-()
@) (A)-(1I), (B)-1V), (C)-(D), (D)-(L)
@ (A)-IV), B)-D), (C)-AD), (D)-1I)




Tt 1 % w11 et & frem fifse

-1 gef-11
(A) T (I g
(B) Afa= INEED
©) 33, (II) =hT3ATg,
(D) fomees (IV) e
= feu mu foeredi ° € O I =1 == it
@ (A)-(ID), (B)-(I), (C)-(ILI), (D)-(IV)
@ (A)-(ID), (B)-(11D), (C)-(IV), (D)-(I)
3 (A)-(III), (B)-(IV), (C)-(I), (D)-(1I)
4 (A)-(IV), (B)-(D), (C)-(II), (D)-(III)
1[Option ID=18293]
2[Option ID=18294]
3[Option ID=18295]
4[Option ID=18296]
OBIDI001075
Match Last T with Last 11
List I List II

(A) Vladimir Lenin
(B) Mao Zedong

(C) Janatha Vimukthi Peramuna

(D) Zanzibar Revolution

()  Sri-Lanka
(I) Africa

(III) Bolsevik Revolution
(IV) Cultural Revolution

Choose the correct answer from the options given below:

@ (A)-0), (B)-(11), (C)-(I), (D)-(IV)
@ (A)-(IID, (B)-(IV), (O)-(D), (D)-(1T)
@ (A)-(ID), B)-D), (C)-1LI), (D)-(IV)
@ (A)-(ID), (B)-(I1I), (C)-(IV), (D)-T)




Tt 1 % | 11 = 1 faam fife

g1 TA-11
(A) saEHR afE @ e
(B) WISl g (IT) 3Thr
(C) e fogfe ST (I1) sheuifeass s
(D) IS Shfd (IV) wiepfaa sifd
Hr= fau o Tl # @ w3 % = Hifvu

@ (A)-0), (B)-(1I), (C)-1I), (D)-(IV)
@ (A)-(IID), (B)-(IV), (O)-(D), (D)-(1T)
@ (A)-(ID), B)-(D), (C)-1LI), (D)-(IV)
@ (A)-1D), (B)-(1D), (O)-aOV), (D)-I)

1[Option ID=18297]
2[Option ID=18298]
3[Option ID=18299]
4[Option ID=18300]

Sl. No.126
QBID:901076

Arrange the following events in the order of their occurrence using the correct codes given
below

(A) Global War on terrorism

(B) China-Pakistan Economic Corridor

(©) Iran — Irak War

(D) Dismantling of the USSR

(E) Lahore Declaration

Choose the correct answer from the options given below :
W (A), B), (C), (D), (E)
@ (C), (D), (B), (A), (B)
@ (B), (C), (A), D), (E)
@ (B), A), (O), B), D)




frfafaa gemati 5t 37 afed @ % 50§ = i@ ™ 2 =1 v w5 gu sEfe Fifb

(A) AR | AfTEE Ig

(B) H-wifream anfde nfermm
(C) TH-30F Ig

(D) 4 .vE T IR H fEe

(E) <R =yn

= feu mu fomedt § € w39 1 == Fifs

W (A), B), (C), (D), (E)
@ (C), (D), (E), (A), (B)
@ (B), (C), (A), D), (E)
@ (E), A), (O), B), D)

1[Option ID=18301]
2[Option ID=18302]
3[Option ID=18303]
4[Option ID=18304]

Sl. No.127
QBID:901077

Arrange the following events in the order of their sequencial order

(A) Independence of Myanmar
(B) Formation of ASEAN
(C) Independence of USA

(D) Dissolution of Yugoslovia

(E) End of Apartheid in South Africa

Choose the correct answer from the options given below :
@ (A), (B), (C), (D), (E)
@ (D), A), (C), B). (E)

@ (C), (A), (B), (E), (D)
@ (A), (D), (E), B), (C)




g gemsti #1 39 ST A § Tafedd Hifg -

(A) =R 6 S
(B)  STfHa™ 1 A

(C) =g U= i i wded

D) e & freea

(E)  =féqor smhiem § T19ig 1 37a

= feu U faeredt § @ U I 1 934 Fifde
w (A), (B), (C), D), (E)
@ (D), (A), (C), (B), (E)
@ (C), (A), (B), (E), (D)
@ (A), (D), (E), B), (C)

1[Option ID=18305]
2[Option ID=18306]
3[Option ID=18307]
4[Option ID=18308]

Sl. No.128
QBID:901078

Arrange the following environmental declarations in their sequencial order

(A) United Nations Framework Convention on Climate Change
(B) Montreal Protocol

(C) Paris Climate Deal

(D) Glassow declaration

(E) Kyoto protocol

Choose the correct answer from the options given below :

@ (A), (B), (C), D), (E)
@ (B), (C). (A), (D), (E)
® (B), (&), (E), (C), (D)
@ (C), (B), (A), (D), (E)




fr=fafaa gafewia st wi 336 FaHES w0 1 =t fif
(A) T IEdT )OS TF S
(B)  wifgaa Wieshial

(C) e ey THgiar

(D)  TOTE =
(E)  =1e1 Sierhiet
e fau e fasredi & @ TE I F =9AT i

@ (A), (B), (O), (D), (E)
@ (B), (C), (A), (D), (E)
@ (B), (A), (E), (C), (D)
@ (C), (B), (4), D), (E)

1[Option ID=18309]
2[Option ID=18310]
3[Option ID=18311]
4[Option ID=18312]

Sl. No.129
QBID:901079

Arrange the following organizations in the order of their foundational year:

(A) World Bank

(B) UNDP

(C)  The ICJ

D) ILO

(E) Asian Development Bank

Choose the correct answer from the options given below :
@ (A), (B), (C), D), (E)
@ (C), (D), (A), (E), (B)
@ (B), (O), (A), (D), (E)
@ D), (A), (O), (B), (E)




fr=feifad deHt =1 3% w9 9 % %9 | sqafed fifv

@A) frwads

B FEdH
(C) zImEAS
(D) 37 U A

(B)  ufmm foema o

4o fiu el # & ot 3w = 9w A
@ (A), (B), (C), D), (E)
@ (C), (D), (A), (E), (B)
@ (B), (O), (A), (D), (E)
@ (D), (A), (C), (B), (E)

1[Option ID=18313]
2[Option ID=18314]
3[Option ID=18315]
4[Option ID=18316]

Sl. No.130
QBID:901080

Arrange the following in order of (Defence Minister, Govt. of India) succession :-

(A) Sardar Baldev Singh
(B) Jagjivan Ram

(C) Nirmala Sitaraman
(D) Mulyam Singh Yadav
(E) George Fernandes

Choose the correct answer from the options given below :
@ (A), B), (C), (D), (E)
@ (A), (B), (D), (E). (C)
@ (O), (A4), (B), D), (E)
@ (K), (4), D), B), (C)




Y SR & FfaRad & 56 1 werien & &9 § =yafera fifsc -

(A) HER Ioed bz
(B) STeiEE ™
(C)  fmten damrmo

(D) HorH fag TEd

(E) S FAES

Fra feu o formmedi ® & o€t 3 @1 =@q Hifvw
@ (A), (B), (), (D), (E)
@ (A), (B), (D), (E), (C)
@ (C), (A), (B), (D), (E)
@ (E), (A), D), (B), (C)

1[Option ID=18317]
2[Option ID=18318]
3[Option ID=18319]
4[Option ID=18320]

Sl. No.131
QBID:901081

Arrange the following Foreign Minister, Govts. of India in order of succession

(A) Sardar Swarn Singh
(B) Attal Bihari Vajpayee
(C) S.M. Krishna

(D) Jaswant Singh

(E) N.D. Tiwari

Choose the correct answer from the options given below :
@ (A), (B), (C), (D), (E)
@ (A), (B), (D), (E), (C)
@ (A), (B), (E), (D), (C)
@ (B), (C), (D), (A), (E)




| TR & fefafaa foem 6@ 1 395 9eEy & 9 4 sgafeq hifsu

(A)  FEr @ i
(B)  3ted fagrt ammut

(C) TH.GH. Fom
(D) <Ea= &8

(E) uA.g. foad

=t fow o forpedt # @ Wt 3 = = Aifo
@ (A), (B), (C), (D), (E)
@ (A), (B), (D), (E), (C)
® (A), (B), (E), (D), (C)
@ (B), (C), (D), (A), (E)

1[Option ID=18321]
2[Option ID=18322]
3[Option ID=18323]
4[Option ID=18324]

Sl. No.132
QBID:901082

Arrange the following events chronologically

(A) India’s Independence

(B) Egypt Independence

(C) Independence of Ceylon (Sri Lanka)
(D) Independence of Namibia

(E) Independence of Philippines

Choose the correct answer from the options given below :
@ (E), (B), (A), (O),(D)
@ (D), (C), (A), (B), (E)

@ (A), (B), D), (E),(C)
@ (B), (O), (E), (A), (D)




frafafed gemet 1 FesrHER Safea Fif

(A)  WRd I T
B) faa F w@aFa
(C) et i E&d=ar
(D)  ArHifeEn 6 =

(E)  Tohefidi=g =it Taqaan

fi= fou o faeredt & & @t s @ = Fifs
w (E), (B), (A), (C),(D)
@ (D), (C), (A), (B), (E)
@ (A), (B), D), (E).(C)
@ (B), (C), (E), (A), (D)

1[Option ID=18325]
2[Option ID=18326]
3[Option ID=18327]
4[Option ID=18328]

Sl. No.133
QBID:901083

Arrange the following events chronologically

(A) New-economic policy (NEP)

(B) Perestoika and glasnost

© NAM
(D) TAEA
(E) Containment of Communisms

Choose the correct answer from the options given below :

@ (A), (B), (C), (D), (E)
@ (A), (E), (D), (C), (B)
@ (B), (O), (E), (D), (A)
@ (B), (D), (A), (E), (C)




frafafiaa gemet it FoswaHER SFaferT FifS

(A) 75 s Af (w3 § )

(B) UHIEH US TATANL
C) wWuw

D) =METIT

(E)  OT=gare 1 Sfaded

Fra feu o formredt # & TEl 3 @1 ==q Aifv

@ (A), (B), (C), (D), (E)
@ (A), (E), (D), (C), (B)
@ (B), (O), (E), (D), (A)
@ (B), (D), (A), (E), (C)

1[Option ID=18329]
2[Option ID=18330]
3[Option ID=18331]
4[Option ID=18332]

Sl. No.134
QBID:901084

Arrange the following US Presidents in ‘oder of succession’

(A) Eisenhower
(B) Lincoln
(©) Reagan
(D) Clinton
(E) Obama

Choose the correct answer from the options given below :
@ (A), (B), (C), D), (E)
@ (E), (B), (A), (C), (D)
@ (B), (A), (C), (D), (E)
@ (A), (B), (D), (C), (E)




frfafaa smfe agufaal i TgRiET & 0 § =afed Fif

(A) I ESEEE

(B) o=

)y Tm

D) fFeq

(E) s

Hr= fou e fasheat ® @ 9 3O &1 = i

@ (A), (B), (C), (D), (E)
@ (E), (B), (A4), (C), (D)
@ (B), (A), (C), (D), (E)
@ (A), (B), (D), (O), (E)

1[Option ID=18333]
2[Option ID=18334]
3[Option ID=18335]
4[Option ID=18336]

Sl. No.135
QBID:901085

Arrange the following wars in ‘order of Precedence’

(A) Russo-Japanese War

(B) Korean War

(C) Sino-Indian War

(D) Russia-Ukraine War

(E) Bangladesh libration War

Choose the correct answer from the options given below :
@ (A), (B), (C), (D), (E)
@ (A), (B), (O), (E), (D)
@ (D), (A), (B), (C), (B)
@ (A), (O), (B), (E), (D)




fr=fafaa 35 =i 703 & #n § =Efem fifsc .

(A) FH-IH Ig
(B) HIfEE Ig

(C) HHi-9rdE g8

(D) ®E-T 3G

(B)  iremew fomfe 35

F=r feu o foeredt & @ O 3 o = i

@ (A), (B), (C), (D), ()
@ (&), B), (O), (E), (D)
@ (D), (A), (B), (C), (E)
@ (A), (C), (B), (), (D)

1[Option ID=18337]
2[Option ID=18338]
3[Option ID=18339]
4[Option ID=18340]

Sl. No.136
QBID:901086

Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion (A) : ‘Aakranda-asara’ meant ‘rear ally’s friend’ as per Kautilya’s definition of

friends and enemies.

Reason (R) : Aakranda meant an ‘ally in the rear’ as per the Kautilya’s definition of
friend. Kautilya used these definitions to explain relationship of a state

with other states in vienity.

In the light of the above statements, choose the most appropriate answer from the options
given below

(1) Both (A) and (R) are correct and R is the correct explanation of A

2 Both (A) and (R) are correct but R 1s NOT the correct explanation of A

3 (A) 1s correct but (R) is not correct

4 (A) 1s not correct but (R) is correct




ﬁ%aﬁwﬁqw%@mﬁﬁ?m (AssertionA)%@ﬂ%ﬁﬁ%ﬁ@ﬁ?ﬂ%W (Reason R) *
E‘Iﬁ;

FifReT (A) Fifeea g & 7 gy & SHER R (F8 %1 fim) #1 gaee A % fim
= fimr 2

F (R) : Fifeea &I fimg 1 gfeamn % sgER ‘A’ # qaad d9 1 i R+ 3
Tl 31K U9 (3W) & Heg § 3 aftamredt 1 3uFi foa |

3T HY o AT H, Hi9 I T el § & wewt 3w I w1 9w i

@ (A) 3R (R) a1 7 € 3 (R), (A) A W =me 2

@ (A) 3t (R) 21 58 &, 9 (R), (A) $ 7 =ame 4 2
@ (A) @& 2 AR (R) Tt 7 2

@ (A) TE 7 2 A (R) T 2

1[Option ID=18341]
2[Option ID=18342]
3[Option ID=18343]
4[Option ID=18344]

Sl. No.137
QBID:901087

Given below are two statements: one 1s labelled as Assertion A and the other i1s labelled as

Reason R

Assertion (A) : Saudi Arabia is a Sunni dominated oil rich economy of the Middle East.

Reason (R) : Iron is a predominantly Shia dominated muslim country and is at regular
conflict with Saudi Arabia due to Shia-Sunni conflict.

In the light of the above statements, choose the most appropriate answer from the options
given below
1) Both (A) and (R) are correct and R is the correct explanation of A
2 Both (A) and (R) are correct but R 1s NOT the correct explanation of A
3) (A) 1s correct but (R) 1s not correct

(@) (A) 1s not correct but (R) is correct




= & wem fiy e E: v AfiEed (Assertion A) % ®9 # fafigd ® @1 50 3% FRU (Reason R) %
F\'Jﬁ;
AR (A): TG IS 959 T hl TF Gt a1ged dd G 37 e 2|

F (R) ; H g 9 8 frn-arge wfeem 3w 2 ol fren-ga gud & SR 3EE gd owa
& o Frafid w7 & god grar war @ |

39U e 6 3Tl H, A 75U U sl § ¥ 98 39w I &1 99 AT

@ (A) 3R (R) 3F1 7t € 30 (R), (A) F we =men 2

@ (A) 3 (R) 21 @&l &, 9fF (R), (A) 9 7 =men 98 2
@ (A)T@ B A (R) T 76 2

@ (A) 58 7 2 9f (R) 9 2

1[Option ID=18345]
2[Option ID=18346]
3[Option ID=18347]
4[Option ID=18348]

Sl. No.138
QBID:901088

Given below are two statements: one is labelled as Assertion A and the other is labelled as

Reason R

Assertion (A) : Book ‘Politics among Nations’ by Hans Morgenthau is a classic statement
of the realist approach

Reason (R) : Realism, liberalism and constructvism are not related to theories of

International Relations.

In the light of the above statements, choose the most appropriate answer from the options

given below
(1) Both (A) and (R) are correct and R 1s the correct explanation of A

(2 Both (A) and (R) are correct but R 1s NOT the correct explanation of A
(3) (A) 1s correct but (R) is not correct

4 (A) is not correct but (R) is correct
= 3t o fou U & w IR (Assertion A) % ®9 # faiflgd @ @ g@U 38 FRU (Reason R) &
Y 'Ei;
FfirReE (A) 9 g il YEash WIfelfead o A58 AaTel IUNH H1 U FeAlidehel $YF 2 |
F0T (R) Ferefdre, 3eRaR 3R AR AP Had 4 Fefd fiage 78 2 |

IR %Y & TS §, 9 75U T faskedt § & wed 3ugw ST w1 99 hife




¢!

*(A) st R) A1 T E 9k (R), (A) B T e @

@ (A) 3t (R) 21 @&l &, 9 (R), (A) i wd =amen 78 2
@) (A) FE ? @ (R) 98t 761 @

@ (A) GE T&l ? AfF (R) T8 2

1[Option ID=18349]
2[Option ID=18350]
3[Option ID=18351]
4[Option ID=18352]

Sl. No.139
QBID:901089

Given below are two statements:

Statement I : The duties of a state are to safeguard the welfare of people, to promote

their economic well-being and to preserve Dharma.

Statement I1 : Traditionally; Philosophy, the Three Vedas, Economics and the Science of
Government are considered to be the four branches of knowledge.

In the light of the above statements, choose the correct answer from the options given below

(1) Both Statement I and Statement II are true
(2> Both Statement I and Statement 11 are false
(3) Statement I is true but Statement II is false

(4) Statement I is false but Statement II is true

= 2 = fou o g

F9 1 Torlt 759 & iea AT & oA i & HEAT, ITh! ITE HATS il UiedTed <A1 ST 9H
T T R |

FOH Il : IR &9 § <¥H W, 1 981, FdwmE &t e & e (9RE e TeeEe) 3 e
I =R @ 71 A 2

I9UH Y & SATclh |, i fou e fsedi 9 9 g8 39 % =9 difv
1) FYT I BﬂTH@:ﬁBﬂ%
@ HY9 [ R I Hi 39T 2

@ FI [ T B, AT 9 I 39T 2

@ HI [ @A 7, Afehd %97 11 99 2

1[Option ID=18353]
2[Option ID=18354]
3[Option ID=18355]
4[Option ID=18356]

Sl. No.140
QBID:901090




Given below are two statements:

Statement I : According to Aristotle, “State comes into existence for the sake of good
Iife”.

Statement II : The German idealists have laid great emphasis on extraordinary powers of
individuals.

In the light of the above statements, choose the correct answer from the options given below
(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement 11 are false
3) Statement [ is true but Statement Il is false

() Statement I is false but Statement 11 is true

= 9t o fau o 2

FAL:  STE h FIER 3= Sfed i wifer 15 ifeaea | e |
FAIl: A snesfardl foamet 4 safwal & swmum sifer w srfafer S fEam |

39U %A &+ AF 4, = fow e et 4 | 9@ 39w == fifv
@) e [ 311 34 99 2
@ FHUF [ 3R I Hi A8 2

@ F [ G 2, AfHT F9H 11 3797 2

@ HI [ @A 7, dAfehd %97 11 99 2

1[Option ID=18357]
2[Option ID=18358]
3[Option ID=18359]
4[Option ID=18360]

Sl. No.141
QBID:901091




Read the passage carefully and answer the question:

Nationalism 1s a disputed but undenibly potent ideology of the modern world. Across the
globe, political passions are continuously excited by the call of national allegiances. Civil
War in Rwanda, Ireland and Bosnia testify the impact of the distructive and passionate force
of Nationalism. The history of modern world bears witness of the terrible conflicts emerging
from hearts of Europe over disputes about national identity and integrity.

While disinterested academics might point out the fuzziness of nationalist account of
political legitimacy, the flesh and blood populations of States are still swayed by appeals to
their national character. Part of the suspicion with nationalism is viewed its capacity to
accelerate passion, myth and ambition, which play un predictable but significant roles in the
economy of human existence.

39 T S TEUHYEE Ug 3R T % IR G

TgaTs U foamgrene, afe snyfis fava 6 srrres w9 & gwraemeft fmmum @ | aept fove # 0y %
frer it s & sfte aeifes weAd Fia soa it I § | @iE, srres sk Sifen § 35 TR
Ig Tyare & faeaust o S arRd F garE i yEi e 3 | oy fava w5 sfoem ufe gemm
i srEsd & a1 8 09 & 967 ¥ 334 91 HEHR 5 39 @ & anaft |

e SRS gl B asifos Saen i Fh dua F TR Tgad faan serg @ g g,
IR Trgag ofda: Rt off <@ f A1 & T afa W R Fa 2 | ga & A | oA S I,
faere 3t Wi ST Rt eEar I ST 7, S AW Sfedc & dUNE # SFTHE, dfd weequ i
et 2

One of the most potent ideology of the modern world explained in the passage relates to:
(1) Nationalism and patriotism
(2 Nationalism and globalisation

3 Patriotic fervour

4) Nationalism

39 T § waerns T snyfe fava ft v watfies foamem o defifd wa #
) TP R Z9E

2) Tgarg K Jyeishl

) Z9fth & S

(4) EAIg

1[Option ID=18361]
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Read the passage carefully and answer the question:

Nationalism 1s a disputed but undenibly potent ideology of the modern world. Across the
globe, political passions are continuously excited by the call of national allegiances. Civil
War in Rwanda, Ireland and Bosnia testify the impact of the distructive and passionate force
of Nationalism. The history of modern world bears witness of the terrible conflicts emerging
from hearts of Europe over disputes about national identity and integrity.

While disinterested academics might point out the fuzziness of nationalist account of
political legitimacy, the flesh and blood populations of States are still swayed by appeals to
their national character. Part of the suspicion with nationalism is viewed its capacity to
accelerate passion, myth and ambition, which play un predictable but significant roles in the
economy of human existence.

39 T I TEUHYEE Ug 3R T % I G

TgaTE, U faarerg, A snygfae fava 6 sreres w9 & gwrawmelt faemaw 2 | wept fava @ uy & ufd
frur i arfia & Sfte aerlifas weamd fiar s & et € | @i, sels o Sift § 35 v TR
Ig TgaTe & faeamsit ot St a1 & g 1 st a2 | ey fava = sfrem afe wewm
i srEsd & a1 8 09 & 967 ¥ 334 91 HEHR 5 39 @ & anaft |

g STl fagEl ft usHifas crawen it dud & IR A Tgard faero sy 8w g,
IR Trgag ofda: Rt off <@ f A1 & T afa W R Fa 2 | ga & A | oA S I,
faere 3t Wi ST Rt eEar I ST 7, S AW Sfedc & dUNE # SFTHE, dfd weequ i
fAmet 2

Nationalism, as per passage included following example countries

(1) Rwanda, Uganda and Bosnia
2 Rwanda, Ireland and Uganda

(3) Rwanda, Bosnia and Ireland

4) Ireland, Bosnia, Rwanda and Uganda
ST TN % SHER Tgarg % sqrend fFrefafes 3w e #
(1) TETEN, FET IR e
) TS, AR AR e
(3) T, SifeE 3 TS
(@) ST, SIfEE, EiE S s
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Read the passage carefully and answer the question:

Nationalism 1s a disputed but undenibly potent ideology of the modern world. Across the
globe, political passions are continuously excited by the call of national allegiances. Civil
War in Rwanda, Ireland and Bosnia testify the impact of the distructive and passionate force
of Nationalism. The history of modern world bears witness of the terrible conflicts emerging
from hearts of Europe over disputes about national identity and integrity.

While disinterested academics might point out the fuzziness of nationalist account of
political legitimacy, the flesh and blood populations of States are still swayed by appeals to
their national character. Part of the suspicion with nationalism is viewed its capacity to
accelerate passion, myth and ambition, which play un predictable but significant roles in the

economy of human existence.

39 T I TEUHYEE Ug 3R T % I G

TgaTE, U faarerg, A snygfae fava 6 sreres w9 & gwrawmelt faemaw 2 | wept fava @ uy & ufd
frur i arfia & Sfte aerlifas weamd fiar s & et € | @i, sels o Sift § 35 v TR
Ig TgaTe & faeamsit ot St a1 & g 1 st a2 | ey fava = sfrem afe wewm
i srEsd & a1 8 09 & 967 ¥ 334 91 HEHR 5 39 @ & anaft |

g STl fagEl ft usHifas crawen it dud & IR A Tgard faero sy 8w g,
IR Trgag ofda: Rt off <@ f A1 & T afa W R Fa 2 | ga & A | oA S I,
faere 3t Wi ST Rt eEar I ST 7, S AW Sfedc & dUNE # SFTHE, dfd weequ i
fAmet 2

History of modern world bears witness to conflicts emerging from Europe over which all
national 1ssues?

(1) Patriotism in Europe
(2 Identity and Integrity
(3 Foreign Policy and technology

@ Interior Policy and integrity

snygfaek fava =1 sfoem 0w & 334 It T o gei w Tod = onedt 27
) 9 H 9

(2 TEAH I IS

@ faew ifq st drenfiehr

@) ERe] Aifd 3R e

1[Option ID=18369]
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Read the passage carefully and answer the question:

Nationalism 1s a disputed but undenibly potent ideology of the modern world. Across the
globe, political passions are continuously excited by the call of national allegiances. Civil
War in Rwanda, Ireland and Bosnia testify the impact of the distructive and passionate force
of Nationalism. The history of modern world bears witness of the terrible conflicts emerging
from hearts of Europe over disputes about national identity and integrity.

While disinterested academics might point out the fuzziness of nationalist account of
political legitimacy, the flesh and blood populations of States are still swayed by appeals to
their national character. Part of the suspicion with nationalism is viewed its capacity to
accelerate passion, myth and ambition, which play un predictable but significant roles in the
economy of human existence.

39 T I TEUHYEE Ug 3R T % I G

TgaTE, U faarerg, A snygfae fava 6 sreres w9 & gwrawmelt faemaw 2 | wept fava @ uy & ufd
frur i arfia & Sfte aerlifas weamd fiar s & et € | @i, sels o Sift § 35 v TR
Ig TgaTe & faeamsit ot St a1 & g 1 st a2 | ey fava = sfrem afe wewm
i srEsd & a1 8 09 & 967 ¥ 334 91 HEHR 5 39 @ & anaft |

g STl fagEl ft usHifas crawen it dud & IR A Tgard faero sy 8w g,
IR Trgag ofda: Rt off <@ f A1 & T afa W R Fa 2 | ga & A | oA S I,
faere 3t Wi ST Rt eEar I ST 7, S AW Sfedc & dUNE # SFTHE, dfd weequ i
et 8 |

Disinterested academics may bring political legitimacy that appeals to :-

(1) National Character

(2 International approach

(3) National military power

4) International treaties

STESE AhTefie fagM TeHifas Jeaar i 3 #id 2, I7 e sm d s mn 2
) T I

) IFAEE 3T

@) ¥ & ufe

@ ITqUsE Gl

1[Option ID=18373]
2[Option ID=18374]
3[Option ID=18375]
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Read the passage carefully and answer the question:

Nationalism 1s a disputed but undenibly potent ideology of the modern world. Across the
globe, political passions are continuously excited by the call of national allegiances. Civil
War in Rwanda, Ireland and Bosnia testify the impact of the distructive and passionate force
of Nationalism. The history of modern world bears witness of the terrible conflicts emerging
from hearts of Europe over disputes about national identity and integrity.

While disinterested academics might point out the fuzziness of nationalist account of
political legitimacy, the flesh and blood populations of States are still swayed by appeals to
their national character. Part of the suspicion with nationalism is viewed its capacity to
accelerate passion, myth and ambition, which play un predictable but significant roles in the
economy of human existence.

39 T S TEUHYEE Ug 3R T % IR G

TgaTs U foamgrene, afe snyfis fava 6 srrres w9 & gwraemeft fmmum @ | aept fove # 0y %
frer it s & sfte aeifes weAd Fia soa it I § | @iE, srres sk Sifen § 35 TR
Ig Tyare & faeaust o S arRd F garE i yEi e 3 | oy fava w5 sfoem ufe gemm
i srEsd & a1 8 09 & 967 ¥ 334 91 HEHR 5 39 @ & anaft |

e SRS gl B asifos Saen i Fh dua F TR Tgad faan serg @ g g,
IR Trgag ofda: Rt off <@ f A1 & T afa W R Fa 2 | ga & A | oA S I,
faere 3t Wi ST Rt eEar I ST 7, S AW Sfedc & dUNE # SFTHE, dfd weequ i
et 2

Nationalism is viewed with the view point that indicates:-

(1) Predictability, terrorism and realism
(2 Passion, myth and emotions
3 Groupism, politics and power

@ Favour, will and plans

TFATE I ST TF o 919 @1 911 2, S 3 Ll ¢
1) QQHHT—IH'I, STdhATg 3R Fenedarg

@ S, ek i wreAmd

(%) HHgaE, Tt S T

@ S, $E91 3R AT

1[Option ID=18377]
2[Option ID=18378]
3[Option ID=18379]
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Sl. No.146
QBID:901096




Read the following passage carefully and answer the questions 96-100

Czechoslovakia and Poland were two Central and East European countries of special
interest to SC Bose. He carefully studied the formation of a Czechoslovakia legion during
World War I with British and Russian help to win freedom from Austrian Domination and a
Polish legion with Japanese help to throw off the Russian yoke. He would cite these
examples years later — of weaker nations needing the help of stronger ones to win
independence — when he formed the Indian National Army during World War I1.

Bose’s “The Indian Struggle’, his interpretation of the freedom movement from 1920 to 1934,
was published by Lowrence and Wishalt in London on 17 January, 1935. The British
Government in India lost no time 1n prescribing and banning its entry into India.

Imprisoned and then home-interned in Kurseong on his return, Bose was not released until
March, 1937. While recuperating in Dalhousie, he wrote two major articles on contemporary
developments in Europe and East Asia. His ‘Europe : Today and Tomorrow’ was an incisive,
realist analysis of shifting configuration of power in that continent. ‘If war comes’, he argued.
‘It will come as a result of a German challenge to the status quo in Central and Eastern
Europe.

39 T S GEYUHIYES UG S 9T HEIT 96 ¥ 100 T H I AT |

AT =g S| T qeF 3R g 09 F 3 2T S 3R dets # faew w0 @ oft | 3= yem
fava 3g & e fofew i ==t wera & wy snfegans sifue 9 gfv (Sadadn) oM % foe Jeiearaten
&1 T F T F GEGHIEF A R o1 | Tl e T 3w A H 3@ BhA H A Heg o
% SR § Ui 1 AT TR o1 | 359k g % 9N H 98 39 SeEU I a9 3¢9 A ¥, 9 =M fgdiE
e g % 2w agE 8 (3 e ) i e fRem o - <sifiek FEeiR 2 S T ae
% fore s1fers wifveeeft Semi <Y e o =1 |

arg it g $feam wer (Wi Tud) gEae 3R 1920 H 1934 @ & R § SATEAT 17 SHail, 1935 H
@ O il ud fasiee gra yekiya i 8 off | wrad feda fafew wwem 3 fomn o w9t yra | 3o T
feam T iR 3Ee A ot ureidt o A off |

I1H H I H ST 3R 3T a1g Sled W 3¢ FHATT H o H ToIeg T T A1 | A" H A= 1937 dh
far =i foran T | RS § e I YN % W1E 3R 70 vd qdf ufien § g geasedt @ ar
TE W@ @ | 3T Th 9@ - U g UE HR 39 WElgM § deadt fedfadt o aR H U e,
Fenefardt favermur o | & o G o1 - 9fe 3g & @ @ 9 9e ok geff g | aen-feufa & s
<1 It & wfomEEaEy g

Which country and its ruling country were studied by SC Bose for gaining independence:

(1) Britain and Russia
(2> Czechoslovakia and Austria

3) Czechoslovakia and Poland

@) Czechoslovakia and Rusia

. Hi & J S W+ o R 2w ot e g o s TR o |
@ fsog sit=m
(2) <IRIEAETRAT S SATfEen

(3)




(4) ARIEAETRAT 3T &

1[Option ID=18381]
2[Option ID=18382]
3[Option ID=18383]
4[Option ID=18384]
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Read the following passage carefully and answer the questions 96-100

Czechoslovakia and Poland were two Central and East European countries of special
interest to SC Bose. He carefully studied the formation of a Czechoslovakia legion during
World War I with British and Russian help to win freedom from Austrian Domination and a
Polish legion with Japanese help to throw off the Russian yoke. He would cite these
examples years later — of weaker nations needing the help of stronger ones to win
independence — when he formed the Indian National Army during World War II.

Bose’s “The Indian Struggle’, his interpretation of the freedom movement from 1920 to 1934,
was published by Lowrence and Wishalt in London on 17 January, 1935. The British
Government in India lost no time in prescribing and banning its entry into India.

Imprisoned and then home-interned in Kurseong on his return, Bose was not released until
March, 1937. While recuperating in Dalhousie, he wrote two major articles on contemporary
developments in Europe and East Asia. His ‘Europe : Today and Tomorrow’ was an incisive,
realist analysis of shifting configuration of power in that continent. If war comes’, he argued.
‘It will come as a result of a German challenge to the status quo in Central and Eastern
Europe.

39 T S GEYUHIYES U¢ S YT @I 96 ¥ 100 @ % I AT |

U o 99 1 qeg R gl U F 31 2w A 3R gieis § e w6 @ ot | 3= gum
fova 35 % <A fofewr ofit ==ht wemran & oy snfeen sifer & gfte (xadaan) 7R & fore Sreratiafer
1 T % T34 F FEGHES A R o1 | 36 T 99 5§61 590 F 3@ B4 § SO HEg o
% = ¥ diels 1 s1ea a1 o1 | 56 918 % 991 # 9% 39 g il ad 35y W 9, e e fgdi
fava g % 2m wdE wfE A (3 e ) & mea fREm on - <erfiek FEeR 29 S EEdEa 9e
o forg s1feres wiftwereft <ot < weman ot =nfee |

| it T 3 e (W Tud) gEae 3R 1920 § 1934 @ & R § SATEAT 17 SHE, 1935 H
e § R wd fasiee g e it v oft | wra o fefewr wer 3 fomn omm e wma § soet o
e o 3 3T I W urEd) o oft |

I H el H e 3R ITH T1g dlled W I¢ FHAT H 5 H Foileg W@ T A1 | SF H A= 1937 9
frar 72 foran T | serdh § wRem @9 UR % W18 3%iH gAY v qelf ofiren # wwenrelia geseEt WAl
TE @@ @ | TR Th 9@ - U ¢S US AW 39 HElgM § deerd! fedfad o aR H U e,
gonefardt favemur o | 3R e fom or - af 3g S @ @ 7 men o gl g § gur-feufa & sl
6t TNt % wfomreaEy g

Which book was authored by SC Bose?

1) Europe and East Asia
2 Freedom at Mid Night

3) The Indian Struggle

® India’s Spokesman Abroad




fafem war 4 o 6t foFe q&ae W wRd § Tk g off ?
(W 7 g §F e

2 ‘Hied Te s

3) G 3T T

@) 3fEa ToEEe I

1[Option ID=18385]
2[Option ID=18386]
3[Option ID=18387]
4[Option ID=18388]
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Read the following passage carefully and answer the questions 96-100

Czechoslovakia and Poland were two Central and East European countries of special
interest to SC Bose. He carefully studied the formation of a Czechoslovakia legion during
World War I with British and Russian help to win freedom from Austrian Domination and a
Polish legion with Japanese help to throw off the Russian yoke. He would cite these
examples years later — of weaker nations needing the help of stronger ones to win
independence — when he formed the Indian National Army during World War II.

Bose’s “The Indian Struggle’, his interpretation of the freedom movement from 1920 to 1934,
was published by Lowrence and Wishalt in London on 17 January, 1935. The British
Government in India lost no time in prescribing and banning its entry into India.

Imprisoned and then home-interned in Kurseong on his return, Bose was not released until
March, 1937. While recuperating in Dalhousie, he wrote two major articles on contemporary
developments in Europe and East Asia. His ‘Europe : Today and Tomorrow’ was an incisive,
realist analysis of shifting configuration of power in that continent. ‘If war comes’, he argued.
‘It will come as a result of a German challenge to the status quo in Central and Eastern
Europe.

39 TR ! HEEHYEH ¢ S T HEAT 96 ¥ 100 T % I SN |

e o 99 1 qeg o gl 09 % &1 2w Al 3R dicis § e wf @ ot | 32 gum
fova 75 % < fofew o ==t wema & wy snfens sifbuer 9 git (Tadsan) T % e earars
1 T % T3 F FEGHES A R o1 | 36 T 99 5§61 590 F 3@ B4 § S HEg o
% R | Uicte 1 7oA fR o1 | 36k TG o aNl # 9% $ SaTeil i ad 359 Hd 9, 99 Swai gt
fava gg & S wwdr v g (3feam Jvme omdf) 1 e foman o - <srfers s o9 @t T@asar 9H
% fore stferes wifmameft <omi <1 wemar o= =nfz |

ar| it T e wer (W gud) gEae 3R 1920 § 1934 @ & R § AT 17 SHE, 1935 H
e § R wE fasiee g i it 1 oft | wra o fefew wer 3 fomn omm e wme @ soent O
fe o o 3T S W urEd) @ oft |

ITH I S H BT 3R I8k 18 Tled W 32 FHAF H oK H Aore W@ T 91 | " &l 714 1937 T
frar 7 foram o | sorEh # wRem @9 UH % W1g 3= gAY vd gt oy #§ wwehreliv veAmseEt W e
TE od e | T TE 9w - g g2 U AR 39 WergM H seerdt feufadt % em § uw e,
FJfaTe} favemu o | 3EH 9 fom o1 - ARG g B ® @ T8 wed R gH v § Aur-feufa s
it I % TfTHEEY g

Which countries were of major interest to Subhash Chandra Bose :-




(1) .
Czechoslovakia and Poland

2 Germany and France
3) UK and Germany

) Poland and Russia
frfafiaa & & 9 9 39 § gumw <5 99 i 9e w9 o
(1) REAETRAT 3R TS
@ S 3 wiE

@ 3, &, R R

@) el 3N &4

1[Option ID=18389]
2[Option ID=18390]
3[Option ID=18391]
4[Option ID=18392]
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Read the following passage carefully and answer the questions 96-100

Czechoslovakia and Poland were two Central and East European countries of special
interest to SC Bose. He carefully studied the formation of a Czechoslovakia legion during
World War I with British and Russian help to win freedom from Austrian Domination and a
Polish legion with Japanese help to throw off the Russian yoke. He would cite these
examples years later — of weaker nations needing the help of stronger ones to win
independence — when he formed the Indian National Army during World War I1.

Bose’s “The Indian Struggle’, his interpretation of the freedom movement from 1920 to 1934,
was published by Lowrence and Wishalt in London on 17 January, 1935. The British

Government in India lost no time 1n prescribing and banning its entry into India.

Imprisoned and then home-interned in Kurseong on his return, Bose was not released until
March, 1937. While recuperating in Dalhousie, he wrote two major articles on contemporary
developments in Europe and East Asia. His ‘Europe : Today and Tomorrow’ was an incisive,
realist analysis of shifting configuration of power in that continent. ‘If war comes’, he argued.
‘It will come as a result of a German challenge to the status quo in Central and Eastern
Europe.

39 T S GEYUHIYES UG S 9T HEIT 96 ¥ 100 T H I AT |

AT =g S| T qeF 3R g 09 F 3 2T S 3R dets # faew w0 @ oft | 3= yem
fava 3g & e fofew i ==t wera & wy snfegans sifue 9 gfv (Sadadn) oM % foe Jeiearaten
&1 T F T F GEGHIEF A R o1 | Tl e T 3w A H 3@ BhA H A Heg o
% SR § Ui 1 AT TR o1 | 359k g % 9N H 98 39 SeEU I a9 3¢9 A ¥, 9 =M fgdiE
e g % 2w agE 8 (3 e ) i e fRem o - <sifiek FEeiR 2 S T ae
% fore s1fers wifveeeft Semi <Y e o =1 |

arg it g $feam wer (Wi Tud) gEae 3R 1920 H 1934 @ & R § SATEAT 17 SHail, 1935 H
@ O il ud fasiee gra yekiya i 8 off | wrad feda fafew wwem 3 fomn o w9t yra | 3o T
feam T iR 3Ee A ot ureidt o A off |

I1H H I H ST 3R 3T a1g Sled W 3¢ FHATT H o H ToIeg T T A1 | A" H A= 1937 dh
far =i foran T | RS § e I YN % W1E 3R 70 vd qdf ufien § g geasedt @ ar
TE W@ @ | 3T Th 9@ - U g UE HR 39 WElgM § deadt fedfadt o aR H U e,
Fenefardt favermur o | & o G o1 - 9fe 3g & @ @ 9 9e ok geff g | aen-feufa & s
<1 It & wfomEEaEy g

Who wrote the article ‘Europe : Today and Tomorrow'?

1) J L Nehru

) M K Gandhi
(3) Aruna Asif Ali
@ S C Bose

Y : g3 Ug AW o fopem fora o -
(1) ﬁﬁlﬂ.ﬁ%"@‘

@ uq, %, et
(3) ST HATHF 3Teft

(4)




. . |
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Read the following passage carefully and answer the questions 96-100

Czechoslovakia and Poland were two Central and East European countries of special
interest to SC Bose. He carefully studied the formation of a Czechoslovakia legion during
World War [ with British and Russian help to win freedom from Austrian Domination and a
Polish legion with Japanese help to throw off the Russian yoke. He would cite these
examples years later — of weaker nations needing the help of stronger ones to win
independence — when he formed the Indian National Army during World War I1.

Bose’s “The Indian Struggle’, his interpretation of the freedom movement from 1920 to 1934,
was published by Lowrence and Wishalt in London on 17 January, 1935. The British
Government in India lost no time in prescribing and banning its entry into India.

Imprisoned and then home-interned in Kurseong on his return, Bose was not released until
March, 1937. While recuperating in Dalhousie, he wrote two major articles on contemporary
developments in Europe and East Asia. His ‘Europe : Today and Tomorrow’ was an incisive,
realist analysis of shifting configuration of power in that continent. ‘If war comes’, he argued.
‘Tt will come as a result of a German challenge to the status quo in Central and Eastern
Europe.

39 TR R HEYHIYES T IR IYT &I 96 H 100 TF F T AT |

g v 919 R geg iR g W F I I It R ueis ¥ fm v @ off | 3=l yum
fova 3g & arm fafewr it =t weman & any snfeger sifiver @ gite (Xadsd) oM & foe Sreraiafr
&1 T % oA 1 GEGHGES A R o | S T 9 3w a9 R I@rS B ° S #eg o
% o ° diels 1 oA R o1 | 56 912 % a9l § 98 39 ISR I a9 I2gd e 9, 59 3w i
fova gg % A vt T I (3REa Svme sndff) 1 mea R o - ‘eifiek e 29 Sl a9
% fou sifere wiftmameft 2 6 werar o+ =ifzu |

a/m 6t 7 e wer (v Tud) gEae I 1920 W 1934 T % o1 § ST 17 SHEH, 1935
@ § oid ud fasiee grn wehiya i 8 off | wra feda fafew wer 3 fomm wm 9w ywa | 36 i
fea T ofit 3Ee A W Ut o & ot |

I8 H I H STEH 3R 3G I1g dled W 3¢ FHAT H O H TEE T T A1 | 91" H A= 1937 T
frar 7t o o | soreh § e Y UM % 91g 3 0 vd o ofimen § wuehele geAmsedt W d
THE W@ @ | 3R Th d@ - U g3 TS AR 39 HElgM H daad! fedfadi o a1 H U e,
gendfardt favermur on | 32 o o or - afe 3g & @ @ g 9e ok geff g § aen-feufa & s
it AT % Ry g

Which of the following leaders said : “If war comes, it will come as a result of a German
Challenge to the status quo in Central and Eastern Europe”.

1) S C Bose

2 J L Nehru

30 Mohd Al Jinnah
4 M K Gandhi




frfafaa & & forg S 3 7z #a1 o1 - “aft gg g @ a1 ¥g Ao o gl gu ° zen-feufa =1 swdt &
AT % TROTHEET B |7

@ uEH, 99

@ 9, T, 6w
(3) Tieme et e
(&) T, F, meft

1[Option ID=18397]
2[Option ID=18398]
3[Option ID=18399]
4[Option ID=18400]




